
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

4th April 2016, 02:00 PM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Who is the Home minister of Madhya Pradesh? / म쑼ἴदॕष कॊ  ग॑ऻमॠ㭬ॎ कग़न ऻ抠?

Babu Lal Gaur / बॊबॏ लॊल गग़र

Jayant Malaiya / जयॠत मलॖयॊ

Gopal Bhargava / गख़पॊल भॊग壗श

Yashodhara Raje / यषख़धरॊ रॊजॕ

Correct Answer :­Babu Lal Gaur / बॊबॏ लॊल गग़र 

2)

Question Stimulus :­

General Knowledge

The only ISRO centre located in Madhya Pradesh is at_____. / एकमॊ㭬
इऺरख़(ISRO) कꝙ 澓 जख़ म쑼 ἴदॕष मꝙ 㑩쫀थत ऻॖ_____.

Indore / इॠदग़र

Ratlam / रतलॊम

Mandsaur / मॠदऺग़र

Bhopal / भख़पॊल

Correct Answer :­Bhopal / भख़पॊल 

3)

Question Stimulus :­



General Knowledge

The “Kalidas Samaroh” is organized in Gwalior for_____. / “कॊलॎदॊऺ
ऺमॊरख़ऻ” कॊ आयख़जन 㥕ॊोलयर  मꝙ ऻख़तॊ ऻॖ_____.

Literary presentation and drama / ऺॊोऻ㑩骢क ἴ阐ॏोत एशॠ नॊ欃

Folk arts / लख़क कलॊ

Classical dance / षॊ�ॎय न॑骢

Modern arts / आधॏोनक कलॊ

Correct Answer :­Literary presentation and drama / ऺॊोऻ㑩骢क ἴ阐ॏोत एशॠ नॊ欃 

4)

Question Stimulus :­

General Knowledge

The river Kshipra joins the river_____. / ो眏ἴॊ नदॎ_____नदॎ मꝙ ोमलतॎ ऻ抠

Narmada / नम壗दॊ

Chambal / चॠबल

Tapti / तॊ㑩

Son / ऺख़न

Correct Answer :­Chambal / चॠबल 

5)

Question Stimulus :­

General Knowledge

Who is the present governor of Madhya Pradesh? /  म쑼 ἴदॕष कॕ शत壗मॊन
रॊꭊपॊल कग़न ऻॖ?

Mridula Sinha / म॑दॏलॊ ोऺॊ

Kalyan Singh / कꎭॊण ो ॠऺऻ



Ram Naresh Yadav / रॊम नरॕष यॊदश

Vajubhai Vala / शजॏभॊई शॊलॊ

Correct Answer :­Ram Naresh Yadav / रॊम नरॕष यॊदश 

6)

Question Stimulus :­

General Knowledge

Which of the following is a Nobel Laureate from Madhya Pradesh? / इनमॕ ऺॕ
कग़न नख़बॕल पॏर䕰ॊर ोशजॕतॊ म쑼 ἴदॕष ऺॕ ऻ抠?

Kailash Satyarthi / कॖलॊष ऺ骢ॊथ

Anil Kakodkar / अोनल कॊकख़डकर

Amartya Sen / अम骢ॊ壗 ऺॕन

C V Raman / ऺॎ.शॎ रमन

Correct Answer :­Kailash Satyarthi / कॖलॊष ऺ骢ॊथ 

7)

Question Stimulus :­

General Knowledge

The multi arts complex “Bharat Bhawan” is situated at_____. / ब कलॊ भशन
“भॊरत भशन” 㑩쫀थत ऻॖ______ .

Gwalior / 㥕ॊोलयर

Indore / इॠदग़र

Bhopal / भख़पॊल

Ujjain / उ퍎ॖन

Correct Answer :­Bhopal / भख़पॊल 

8)



Question Stimulus :­

General Knowledge

The principle bench of Madhya Pradesh High court is situated at____ / म쑼
ἴदॕष उ潜 ㄰ॊयॊलय कॊ ἴमॏख ㄰ॊयपॎठ 㑩쫀थत ऻ抠______.

Indore / इॠदग़र

Gwalior / 㥕ॊोलयर

Jabalpur / जबलपॏर

Bhopal / भख़पॊल

Correct Answer :­Jabalpur / जबलपॏर 

9)

Question Stimulus :­

General Knowledge

From which city the T20 world cup India­ Pakistan match was shifted due
to security reasons /  ॏऺर眏ॊ कॊरणख़ ॠ कॕ मॕनजर टॎ͙͗(T20)ोश䐴 कप कॕ भॊरत­पॊोक阐ॊन
मॖच कख़ ोकऺ षऻर ऺॕ 쫀थॊनॊॠत�रत ोकयॊ गयॊ थॊ?

Jammu / जᑥॐ

Jaiselmer / जॖऺलमॕर

Dharmshala / धम壗षॊलॊ

Mumbai / मॏॠबई

Correct Answer :­Dharmshala / धम壗षॊलॊ 

10)

Question Stimulus :­

General Knowledge

Which of the following is famous for Manganese mine in Madhya Pradesh?
/ म抠गनॎि कॕ खॊनख़ ॠ कॕ ोलए म쑼 ἴदॕष मꝙ ोन⎫ोल㑩खत मꝙ ऺॕ कग़न ऺॊ ἴोऺ걑 ऻॖ?

Ghatshila / घॊटोषलॊ



Katni / कटनॎ

Pathakheda / पॊथॊखॕीॊ

Balaghat / बॊलॊघॊट

Correct Answer :­Balaghat / बॊलॊघॊट 

11)

Question Stimulus :­

General Knowledge

Which of the following temple is situated in Madhya Pradesh? / ोन⎫ोल㑩खत मꝙ
ऺॕ कग़न ऺॊ मॠोदर म쑼 ἴदॕष मꝙ 㑩쫀थत ऻॖ?

Khajuraho / खजॏरॊऻख़

Somnath / ऺख़मनॊथ

Shrinathji / ᎛ॎनॊथजॎ

Trimbakeshwar / 㭬य楇कॕ䐴र

Correct Answer :­Khajuraho / खजॏरॊऻख़ 

12)

Question Stimulus :­

General Knowledge

Which of the following cricketer do not belongs to Madhya Pradesh?
/ ोन⎫ोल㑩खत ो쬺कॕटरख़ ॠ मꝙ ऺॕ कग़न म쑼 ἴदॕष ऺॕ  ॠऺबॠोधत नऻॎ ॠ ऻ抠?

Narendra Hirwani / नरॕ엙 ोऻरशॊनॎ

Naman Ojha / नमन ओझॊ

Ajinkya Rahane / अोजॠ剨 रॊऻॊणॕ

Amay Khurasiya / अमय खॏरॊोऺयॊ

Correct Answer :­Ajinkya Rahane / अोजॠ剨 रॊऻॊणॕ 



13)

Question Stimulus :­

General Knowledge

Which of the following is one of the highest sports award for Madhya
Pradesh? / म쑼 ἴदॕष कॊ ऺश쥄潜 खॕल पॏर䕰ॊर ोन⎫ॊॠोकत मꝙ ऺॕ कग़न ऺॊ ऻॖ?

Kushal Award / कॏ षल पॏर䕰ॊर

Vikram Award / ोश쬺म पॏर䕰ॊर

Jyoti Award / ꭊख़ोत पॏर䕰ॊर

Surya Award /  ॐऺय壗 पॏर䕰ॊर

Correct Answer :­Vikram Award / ोश쬺म पॏर䕰ॊर 

14)

Question Stimulus :­

General Knowledge

Which of the following falls is situated in Madhya Pradesh? / ोन⎫ॊ㑩ᜀत मꝙ ऺॕ
कग़न ऺॊ ἴपॊत म쑼 ἴदॕष मꝙ 㑩쫀थत ऻॖ?

Jog falls / जख़ग ἴपॊत

Doodhsagar falls / दॏधऺॊगर ἴपॊत

Kadambi falls / कद楇ॎ ἴपॊत

Dhuandhar falls / धॏआॠधॊर ἴपॊत

Correct Answer :­Dhuandhar falls / धॏआॠधॊर ἴपॊत 

15)

Question Stimulus :­

General Knowledge

According to 2011 Census at which place Madhya Pradesh stands in Indian
states? / ͙͗͘͘ कॎ जनगणनॊ कॕ अनॏऺॊर भॊरतॎय गणरॊꭊख़ॠ मꝙ म쑼 ἴदॕष कॊ कग़न ऺॊ 쫀थॊन ऻॖ?



states? / ͙͗͘͘ कॎ जनगणनॊ कॕ अनॏऺॊर भॊरतॎय गणरॊꭊख़ॠ मꝙ म쑼 ἴदॕष कॊ कग़न ऺॊ 쫀थॊन ऻॖ?

Second / दॐ ऺरॊ

Sixth / छठशॊॠ

Seventh / ऺॊतशॊॠ

Eighth / आठशॊॠ

Correct Answer :­Sixth / छठशॊॠ 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत मॏऻॊशरॕ कॊ ऺऻॎ ोशक⛇ चॏनꝙ­ आकॊष ऺॕ बॊतꝙ करनॊ

बत ऊँचॊ ऻख़नॊ

बत तॕज दग़ीनॊ

अोभमॊन करनॊ

क⛇नॊ करनॊ

Correct Answer :­अोभमॊन करनॊ 

2)

Question Stimulus :­

Hindi

‘रॊमॊयण’ ष䦚 कॊ  ॠऺोध ोश찗ॕद ऻख़गॊ­

रॊम: + यण

रॊम: + अयन

रॊमॊ + यन

रॊम + अयन



Correct Answer :­रॊम + अयन 

3)

Question Stimulus :­

Hindi

‘अन् + अ㣖’ मꝙ  ॠऺोध ऻख़गॎ­

अनअ㣖

अन㣖

अन:अ㣖

अनॏअ㣖

Correct Answer :­अन㣖 

4)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत मꝙ कग़न ऺॊ ष䦚 षॏ걑 ऻॖ­

भोश᰿

भशॎ᰿

भोश߮

भोश⼳

Correct Answer :­भोश᰿ 

5)

Question Stimulus :­

Hindi

‘क॑पण’ ष䦚 कॊ ोशलख़म ऻख़गॊ­



अधम

दॊनॎ

कोन�

क॑त撥

Correct Answer :­दॊनॎ 

6)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत ष䦚ख़ॠ कॕ आगॕ चॊर ष䦚 ोदए गए ऻ抠। इनमꝙ ऺॕ उोचत ऺमॊनॊथ壗क पयॊ壗य चॏोनए­ प�रचर

आग

ोनषॊचर

शॊयॏ

ऺॕशक

Correct Answer :­ऺॕशक 

7)

Question Stimulus :­

Hindi

अनॕक ष䦚ख़ॠ कॕ ोलए एक ष䦚 कॊ चयन कॎोजए­ ोजऺॕ ोकऺॎ ऺॕ लगॊश न ऻख़

न䐴र

ोनोल壗

ोलꈴॏ

अलगॊशशॊदॎ

Correct Answer :­ोनोल壗 



8)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत ष䦚 कॕ तॎन अनॕकॊथ ष䦚 ऻ抠; जख़ ष䦚 इऺ ᎛ॕणॎ मꝙ नऻॎ ॠ आतॕ ऻ抠, उऺॕ चॏोनए­ नॊक

휐ग壗

नॊोऺकॊ

पॊतॊल

ἴोत�ॊ

Correct Answer :­पॊतॊल 

9)

Question Stimulus :­

Hindi

नॎचॕ एक ष䦚 ोदयॊ गयॊ ऻॖ ोदए गए ोशक⛇ख़ॠ मꝙ पयॊ壗यशॊचॎ ष䦚 चॏोनए­ ἴॊऺॊद

ἴऺॊद

ἴऺ㆚

आशॊऺ

मऻल

Correct Answer :­मऻल 

10)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत ष䦚ख़ॠ मꝙ ἴ骢य लगॊनॕ ऺॕ बननॕ शॊलॕ ऺऻॎ ोशक⛇ कख़ चॏोनए­ शर

 



शरॎ�

शरॕ�

श�र㵼

श�र�

Correct Answer :­श�र� 

11)

Question Stimulus :­

Hindi

‘ोचरॊयॏ’  ष䦚 मꝙ ἴयॏ쯋 उपऺग壗 बतॊइए­

ोच

ोचर

यॏ

आयॏ

Correct Answer :­ोचर 

12)

Question Stimulus :­

Hindi

‘ोपतॊ楇र’ ष䦚 कॊ ऺमॊऺ ोश聱ऻ ऻख़गॊ­

पॎत ऻॖ ोजऺकॊ अ楇र

पॎत ऻॖ श� ोजऺकॊ

पॎलॊ अ楇र ऻॖ ोजऺकॊ

उपयॏ壗쯋 ऺभॎ

Correct Answer :­उपयॏ壗쯋 ऺभॎ 



13)

Question Stimulus :­

Hindi

ोन⎫ोल㑩खत मꝙ ऺॕ षॏ걑 शॊ剨 चयन करꝙ­

शऻ ोशलॊप करकॕ रख़नॕ लगॊ

शऻ ोशलपनॕ लगॊ

शऻ ोश賜श करनॕ लगॊ

शऻ ोशलॊप करनॕ लगॊ

Correct Answer :­शऻ ोशलॊप करनॕ लगॊ 

14)

Question Stimulus :­

Hindi

‘भॊरत भॊरतॎ’ ोकऺ भॊहॊ मꝙ ोलखॊ आ 聱ॠथ ऻॖ?

खीॎ बख़लॎ

観जभॊहॊ                                                    

रॊज쫀थॊनॎ

अशधॎ

Correct Answer :­खीॎ बख़लॎ 

15)

Question Stimulus :­

Hindi

‘झ瑾ॊ ऊँचॊ रऻॕ ऻमॊरॊ’ गॎत कॕ रचोयतॊ ऻ抠­

रॊमἴऺॊद ोश㑩萼ल



ॏऺोम㭬ॊन胦न पॠत

ोऺयॊरॊमषरण गॏ

߮ॊमलॊलगॏ पॊह壗द

Correct Answer :­߮ॊमलॊलगॏ पॊह壗द 

Topic:­ G3_General English
1)

Question Stimulus :­

English

What does the given idiom mean: “Feeling blue”

Feeling sad

Feeling angry

Feeling annoyed

Feeling thoughtful

Correct Answer :­Feeling sad 

2)

Question Stimulus :­

English

What does the given idiom mean:

“Having a blast”

Attacking someone

Enjoying yourself

Teasing someone

Getting attacked

Correct Answer :­Enjoying yourself 



3)

Question Stimulus :­

English

Fill in the blank.

When we reached the hall, the event ____________.

has already started

has started

had already started

was already started

Correct Answer :­had already started 

4)

Question Stimulus :­

English

Fill in the blank.

He fell asleep while he __________.

reads

was reading

is reading

has read

Correct Answer :­was reading 

5)

Question Stimulus :­

English

The following sentence is split in three parts and each one is labelled (A),
(B), and (C). Read the sentence to find out whether there is an error in



any part. Letter (D) signifies a ‘No error’.

She has lost (A) her wallet (B) yesterday. (C)

(A) She has lost

(B) her wallet

(C) yesterday

No error

Correct Answer :­(A) She has lost 

6)

Question Stimulus :­

English

Fill in the blank.

Ben __________ Sam with a party.

wondered

surprised

baffled

attacked

Correct Answer :­surprised 

7)

Question Stimulus :­

English

What is the synonym of: bliss

Joy

Sorrow

Pain



Dejection

Correct Answer :­Joy 

8)

Question Stimulus :­

English

What is the synonym of: change

Fix

Maintain

Sustain

Shift

Correct Answer :­Shift 

9)

Question Stimulus :­

English

What is the antonym of: include

Involve

Exclude

Contain

Comprise

Correct Answer :­Exclude 

10)

Question Stimulus :­

English

What is the antonym of: wild



Furious

Savage

Gentle

Violent

Correct Answer :­Gentle 

11)

Question Stimulus :­

English

Fill in the blank.

He wasn’t ___________ enough to lift the entire luggage.

strong

tall

staunch

livid

Correct Answer :­strong 

12)

Question Stimulus :­

English

Fill in the blank.

You should __________ in yourself if you want to achieve something.

Doubt

Believe

Think

Slander



Correct Answer :­Believe 

13)

Question Stimulus :­

English

Fill in the blank.

He was _____ honest man.

an

a

the

no article

Correct Answer :­an 

14)

Question Stimulus :­

English

Complete the idiom: We got the happy ending after all. It was a
____________ in disguise.

curse

blessing

wish

thought

Correct Answer :­blessing 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths



Ankita placed Rs. X at compound interest and it becomes Rs. 2X in 3 years.
In how many years will it become Rs. 8X at the same rate of interest? /
अॠोकतॊ xਂपयॕ च쬺श॑ोध ≞ॊज पर लगॊतॎ ऻॖ और ͚ ऺॊल मꝙ शऻ ͙x ऻख़ जॊतॊ ऻॖ.ऺॊमॊ㄰ ≞ॊज कॕ  दर ऺॕ
͟x ਂपयॕ ऻख़नॕ मꝙ ोकतनॊ ऺमय लगॕगॊ?

21 years / ͙͘ ऺॊल

8 years / ͟ ऺॊल

9 years / ͠ ऺॊल

16 years / ͘͝ ऺॊल

Correct Answer :­9 years / ͠ ऺॊल 

2)

Question Stimulus :­

Maths

For what value of x, do the following equation holds good: 1/(x – 10) –
1/(x– 6) = 1/(x–8) – 1/(x – 4)? / ोदए गए ऺमॎकरण मꝙ ͘/(x – ͗͘) – ͘/(x– ͝) =
͘/(x–͟) – ͘/(x – ͛) मꝙ x कॊ मॊन 퇋ॊत करꝙ?

5 / ͜

2 / ͙

7 / ͞

9 / ͠

Correct Answer :­7 / ͞ 

3)

Question Stimulus :­

Maths

If A:B = 2:3 and B:C = 4:5, then what is the ratio A:B:C? / अगर A:B=͙:͚ और
B:C=͛:͜ ऻॖ तख़ A:B:C कॊ अनॏपॊत 剨ॊ ऻख़गॊ?

2:3:5 / ͙:͚:͜



8:12:15 / ͟:͙͘:͘͜

4:12:15 / ͛:͙͘:͘͜

8:15:12 / ͟:͘͜:͙͘

Correct Answer :­8:12:15 / ͟:͙͘:͘͜ 

4)

Question Stimulus :­

Maths

Anita sells her laptop to Ankit at a profit of 20% and Ankit sells to Arjun at
a profit of 25%. If Arjun pays Rs. 22,500 for it, what was the cost price of
the laptop for Anita? / अनॎतॊ अपनॊ लॖपटॗप ͙͗% कॕ लॊभ पर अॠोकत कख़ बॕचतॎ ऻॖ और
अॠोकत अजॏ壗न कख़ ͙͜% कॕ लॊभ पर बॕचतॊ ऻॖ|अगर अजॏ壗न उऺकॕ ोलए ͙͙,͗͗͜ जमॊ करतॊ ऻॖ तख़
अनॎतॊ कॕ लॖपटॗप कॕ खरॎदनॕ कॊ मॐꎭ 퇋ॊत करꝙ?

Rs. 15000 / ͗͗͗͘͜ਂपयॕ

Rs. 18000 / ͗͗͗͘͟ ਂपयॕ

Rs. 16500 / ͗͗͘͜͝ਂपयॕ

Rs. 14750 / ͛͗͘͜͞ ਂपयॕ

Correct Answer :­Rs. 15000 / ͗͗͗͘͜ਂपयॕ 

5)

Question Stimulus :­

Maths

What is the range of the daily wages of 10 persons given as (in ₹): 240,
180, 250, 160, 200, 280, 220, 170, 210, and 270? / ͗͘ दॖोनक मजदॐ रॎ करनॕ शॊलॕ
लख़गख़ ॠ कॎ ऺॎमॊ यऻॊँ दॎ गयॎ ऻॖ(जख़ ऻॖ):͙͛͗,͗͘͟,͙͗͜,͗͘͝,͙͗͗,͙͗͟,͙͙͗,͗͘͞,͙͗͘,और ͙͗͞?

₹ 110 / ͗͘͘

₹ 120 / ͙͗͘

₹ 280 / ͙͗͟



₹ 160 / ͗͘͝

Correct Answer :­₹ 120 / ͙͗͘ 

6)

Question Stimulus :­

Maths

An urn contains 18 identical balls numbered 41, 42, 43, ……., 58. A ball is
chosen at random from this urn. What is the probability that the number
printed on the ball is multiple of 3? / एक कलष मꝙ ऺॊमॊन ͘͟ बॗल ोजꝙ
͛͘,͙͛,͙͛,..........,͜͟  ॠऺ殼ॊओॠ ऺॕ ोच㑩त ोकयॊ गयॊ ऻॖ| एक बॗल इऺ कलष  मꝙ ऺॕ यॊ飳㑩찗क 杯प
ऺॕ चॏनॊ जॊतॊ ऻॖ| बॊल पर मॏो澓त  ॠऺ殼ॊओ कख़ ͚ ऺॕ भॊग करकॕ अनॏमॊन ोनकॊलꝙ?

0.25 / ͗.͙͜

0.30 / ͗.͚͗

0.50 / ͗.͗͜

0.33 / ͗.͚͚

Correct Answer :­0.33 / ͗.͚͚ 

7)

Question Stimulus :­

Maths

Let A = area of a circle; C = Circumference of the circle and D = its
diameter. What is the value of A/CD? / योद A=श॑त कॊ 眏ॕ㭬फल;C=श॑त कॎ प�रोध और
D= इऺकॕ ≠ॊऺ| A/CD कॊ मॊन 퇋ॊत करꝙ?

1 / ͘

0.5 / ͗.͜

0.25 / ͗.͙͜

0.33 / ͗.͚͚

Correct Answer :­0.25 / ͗.͙͜ 



8)

Question Stimulus :­

Maths

What is the average of first 7 natural prime numbers? / ἴथम ͞ ἴॊक॑ोतक मॐल
ॠऺ殼ॊओ कॊ औऺत ोनकॊलꝙ?

 

8.29 / ͟.͙͠

6.00 / ͝.͗͗

8.14 / ͟.͛͘

6.29 / ͝.͙͠

Correct Answer :­8.29 / ͟.͙͠ 

9)

Question Stimulus :­

Maths

Due to some problem with her walking shoes, Anjali walks at 80% of her
normal speed and thus was late for college by 15 minutes. What is the
normal time taken by Anjali to reach her college at her normal speed? /
टऻलनॕ शॊलॕ जॐ㼺ॕ कॎ ोद쥔तख़ॠ कॕ कॊरन अॠजोल ऺॊमॊ㄰ गोत मꝙ ͗͟% मꝙ घॐमतॎ ऻॖ और इऺॎोलए शऻ
मऻॊ ोश説ॊलय मꝙ ͘͜ ोमनट दॕर ऺॕ पँचतॎ ऻॖ|अॠजोल अपनॕ ऺॊमॊ㄰ गोत मꝙ अपनॕ मऻॊोश説ॊलय ोकतनॎ
दॕर मꝙ पँचतॎ ऻॖ?

2 Hrs / ͙ घॠटॕ

1 Hr / ͘ घॠटॕ

3 Hrs / ͚ घॠटॕ

2.66 Hrs / ͙.͝͝ घॠटॕ

Correct Answer :­1 Hr / ͘ घॠटॕ 

10)



Question Stimulus :­

Maths

What is the LCM of 8x2 (x – 1)2 (x + 1) and 6xy (x + 1)2 (x –1)? / ͟x͙ (x –
͘)͙ (x + ͘) और ͝xy (x + ͘)͙ (x –͘) लघॏतम ऺमशॊप壗त 퇋ॊत करꝙ?

24xy (x2 – 1)  / ͙͛xy (x2 – ͘)    

24xy2 (x2 – 1)2 / ͙͛xy2 (x2 – ͘)2

24x2y (x2 – 1)2 / ͙͛x2y (x2 – ͘)2      

48x2y (x2 – 1) / ͛͟x2y (x2 –͘)

Correct Answer :­24x2y (x2 – 1)2 / ͙͛x2y (x2 – ͘)2       

11)

Question Stimulus :­

Maths

Product of roots of the equation 2x2 – 11x + k = 0 is 6. What is the value
of k(k­12)(k­13)(k­16)? / ऺमॎकरण कॕ मॐलख़ ॠ ͙x2 – ͘͘x + k = 0  कॊ  गॏणनफल ͝ ऻॖ| k(k­
12)(k­13)(k­16) कॊ मॐꎭ 퇋ॊत करꝙ?

144 / ͛͛͘

0.833  / ͗.͚͚͟

0 / 0

1 / ͘

Correct Answer :­1 / ͘ 

12)

Question Stimulus :­

Maths

Shopkeeper reduces the price of product X by 20% and hence the sales
increased by 30%. By how much percentage, revenue changed as received

by the shopkeeper? / दॐ कॊनदॊर x ऺॊमॊन कॊ मॐꎭ ͙͗% घटॊ दॕतॊ ऻॖ और ोजऺऺॕ उऺकॎ



by the shopkeeper? / दॐ कॊनदॊर x ऺॊमॊन कॊ मॐꎭ ͙͗% घटॊ दॕतॊ ऻॖ और ोजऺऺॕ उऺकॎ
ोब쬺ॎ ͚͗% बु गयॎ ऻॖ|दॐ कॊनदॊर कॕ 賏ॊरॊ ἴोतषत कॕ आधॊर पर रॊज휐 कॕ 杯प मꝙ बदलॊ गयॊ ऻ抠?

Increases by 10% / ͗͘% बुॊ ऻॖ

Decreases by 4% / ͛% घटॊ ऻॖ

Decreases by 10% / ͗͘%घटॊ ऻॖ

Increases by 4% / ͛% बुॊ ऻॖ

Correct Answer :­Increases by 4% / ͛% बुॊ ऻॖ 

13)

Question Stimulus :­

Maths

Two vectors a and b with magnitude 2 and 1 are such that a.b = √3. What
is the angle between the two vectors? / दख़ शॖ⣟र ए और बॎ प�रमॊण कॕ ऺॊथ ͙ और ͘
ऻॖ तख़ ऐऺॕ मꝙ a.b = √͚ ऻ抠। दख़ शॖ⣟र बॎच कख़ण 剨ॊ ऻॖ?

0o / 0o

30o / ͚͗͗

45o / ͛͗͜

60o / ͗͗͝

Correct Answer :­30o / ͚͗͗ 

14)

Question Stimulus :­

Maths

Evaluate: ∫21x/3x dx / मॐꎭॊॠकन करॕ : ∫͙͘x/͚x dx

(21/3)x + C / (͙͘/͚)x + C      

7x loge7 + C / ͞x loge͞ + C



7x/loge7 + C / ͞x/loge͞ + C

21x/loge3 + C / ͙͘x/loge͚ + C

Correct Answer :­7x/loge7 + C / ͞x/loge͞ + C 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

If in a particular coded language ABSOLUTENESS is written as
BATNMTUDODTR, then how LIKELIHOOD would be written in the same
Language? /  अगर ोकऺॎ कॐ ट भॊहॊ मꝙ अ술ख़लॏतनॕऺ (ABSOLUTENESS )कख़
बॎएटॎएनएमटॎयॏडॎओडॎटॎआर (BATNMTUDODTR) ोलखतॕ ऻ抠 तख़ उऺॎ भॊहॊ मꝙ लॊईकलॎड
(LIKELIHOOD) कॖऺॕ ोलखꝙगॕ?

MJLFMJIPPE / एमजॕएलएमजॕआईपॎपॎइ

MHLDMHINPC / एमएचएलडॎएमएचआईएनपॎऺॎ

KHJDKHGNNC / कॕएचजॕडॎकॕएचजॎएनएनऺॎ

MHLDHMNIPC / एमएचएलडॎएचएमएनआईपॎऺॎ

Correct Answer :­MHLDMHINPC / एमएचएलडॎएमएचआईएनपॎऺॎ 

2)

Question Stimulus :­

Reasoning

In the Number Series below, which Number should come in place of ‘X’? /
नॎचॕ दॎ गयॎ  ॠऺ殼ॊओॠ कॎ ᎛॑ॠखलॊ मꝙ ‘X’ कॕ 쫀थॊन पर कग़नऺॎ  ॠऺ殼ॊ आयॕगॎ?
5 50 25 100 125 150 X

250 / ͙͗͜

200 / ͙͗͗

600 / ͗͗͝



625 / ͙͜͝

Correct Answer :­625 / ͙͜͝ 

3)

Question Stimulus :­

Reasoning

Which character shall come in place of ‘?’ / ‘?’ कॕ 쫀थॊन पर कग़न ऺॊ अ眏र आयॕगॊ?

 

Correct Answer :­  

4)

Question Stimulus :­

Reasoning

Nandita’s desk calendar shows date based on two cubes named ‘J’ and ‘K’



that need to be rearranged every day so that the correct date is displayed
on the front faces of the cubes.  From dates 1st to 9th too both the cubes
need to be used as single digit can’t be kept on the calendar stand. The
two cubes need to have which of the following numbers respectively so as
to enable proper display of dates all year round? / नॠोदतॊ कॊ डॕ䕰 कॖलꝙडर पर
तॊरॎखꝙ ोदखॊनॕ कॕ ोलए  दख़ 剨ॐ술 ‘J’ और ‘K’ पर ोनभ壗र करतॊ ऻॖ ोजꝙ रख़ि ≠श㑩쫀थत करनॊ पीतॊ ऻॖ
तॊोक 剨ॐ술 कॕ ऺॊमनॕ शॊलॎ ऺतऻ पर ऺऻॎ तॊरॎख ἴदोष壗त कॎ जॊ ऺकॕ. ͘ ऺॕ लॕकर ͠ तॊरॎखख़ ॠ तक भॎ
दख़नख़ ॠ 剨ॐ술 कख़ एकल अॠकख़ ॠ कॕ 杯प मꝙ इ阐ॕमॊल करनॕ कॎ जਂरत ऻॖ और इꝙ कॖलꝙडर 에抠ड पर नऻॎ ॠ
रखॊ जॊ ऺकतॊ. इन 剨ॐ술 पर ोन⎫ोल㑩खत मꝙ ऺॕ 쬺मषॡ कग़न ऺॎ  ॠऺ殼ॊएॠ  आनॎ चॊोऻए तॊोक ऺॊल भर
कॎ ऺॊरॎ तॊरॎखꝙ ऺऻॎ तरॎकॕ ऺॕ ोदखॊई जॊ ऺकꝙ ?

Cube J: 0 1 2 3 4 5 & Cube K: 6 1 2 3 4 5 / घन जॕ: ͗ ͘ ͙ ͚ ͛ ͜ यॊ
घन कॕ: ͝ ͘ ͙ ͚ ͛ ͜

Cube J: 1 0 2 3 4 5 & Cube K: 3 4 5 6 7 8 / घन जॕ: ͘ ͗ ͙ ͚ ͛ ͜  यॊ
घन कॕ: ͚ ͛ ͜ ͝ ͞ ͟

Cube J: 2 3 4 5 6 7 & Cube K: 5 6 7 8 9 0 / घन जॕ: ͙ ͚ ͛ ͜ ͝ ͞ यॊ
घन कॕ ͜ ͝ ͞ ͟ ͠ ͗

Cube J: 0 1 2 3 4 5 & Cube K: 0 1 2 6 7 8 / घन J: ͗ ͘ ͙ ͚ ͛ ͜ &
घनK: ͗ ͘ ͙ ͝ ͞ ͟

Correct Answer :­Cube J: 0 1 2 3 4 5 & Cube K: 0 1 2 6 7 8 / घन J: ͗ ͘ ͙ ͚ ͛ ͜
& घनK: ͗ ͘ ͙ ͝ ͞ ͟ 

5)

Question Stimulus :­

Reasoning

A certain relationship between the elements is being provided the
statement below. It is followed by two conclusions. Give the answer based
on the relationship and conclusion that follow. / नॎचॕ ोदए गए कथन कॏ छ त㕜ख़ॠ कॕ
बॎच ोनो耓त  ॠऺबॠधख़ ॠ कख़ दषॊ壗 रऻॕ ऻ抠. यॕ दख़ ोनٿह鏅 賏ॊरॊ अनॏगोमत ऻ抠. ोनٿह鏅 एशॠ  ॠऺबॠधख़ ॠ कॕ आधॊर पर
ोन⎫ ἴ畎ख़ ॠ कॕ उ㼺र दꝙ.

Statements: / कथन:

Dilip ≥ Eeswara ≥ Jayanti. Revati < Parvati; Parvati > Qamara / ोदलॎप ≥
ई䐴र ≥ जयॠतॎ. रॕशतॎ < पॊश壗तॎ; पॊश壗तॎ > कमर

Conclusions: / ोनٿह壗:



I. Qamara > Eeswara / क. कमर > ई䐴र

II. Dilip > Parvati / ख. ोदलॎप > पॊश壗तॎ

Only I Follows / कॕशल क

Only II Follows / कॕशल ख

Either I or II Follows / क  यॊ  ख

Neither I nor II Follow /  न क न ख

Correct Answer :­Neither I nor II Follow /  न क न ख 

6)

Question Stimulus :­

Reasoning

While Dhanraj was playing Snakes and Ladders with his friends, he throws
the dice in which he gets a / जब धनरॊज अपनॕ ोम㭬ख़ ॠ कॕ ऺॊथ ऺॊॠप और ऺॎढॎ खॕल रऻॊ थॊ,
उऺनॕ पॊऺॊ फꝙ कॊ ोजऺमꝙ उऺॕ ोमलॊ



Correct Answer :­  

7)

Question Stimulus :­

Reasoning

Six Friends, Dawar, Eraz, Farzaan, Gurpritam, Hitisha and Indeevar are
sitting facing the Table in front of them. Their professions in no particular
order are Plumber, Banker, Golfer, Architect, Painter and Teacher. / 

छॡ ोम㭬, डॊशर, एरॊि, फरजॊन, गॏरोἴतम, ोऻोतहॊ और इ胦ॎशर एक टॕबल कॕ ऺॊमनॕ बॖठॕ ऻ抠. उनकॕ
≠शऺॊय ोबनॊ ोकऺॎ ोशषॕह 쬺म कॕ इऺ ἴकॊर ऻ抠, नलऺॊज, ब抠कर, गख़ۅर, शॊ阐ॏकॊर, ोच㭬कॊर और
ोष眏क.

अगर­: / If ­ :

 

1. Only two of them are such who are seated immediately next to each
other and whose names begin with the consecutive letters of English
Alphabets. One of them is a Painter and the other is a Teacher;
/ ͘. उनमꝙ ऺॕ मॊ㭬 दख़ ऐऺॕ ऻ抠 जख़ एक दॐ ऺरॕ कॕ अगल­बगल बॖठॕ ऻ抠, और ोजनकॕ नॊम अॠ聱ॕजॎ कॕ लगॊतॊर शण鏅 ऺॕ षॏ杯 ऻख़तॕ
ऻ抠. उनमꝙ ऺॕ एक ोच㭬कॊर और दॐ ऺरॊ एक ोष眏क ऻॖ;

2. Neither amongst Farzaan, Eraz and Dawar is a Golfer or a Banker;
/ ͙. फरजॊन, एरॊि यॊ डॊशर मꝙ ऺॕ कख़ई भॎ गख़ۅर यॊ ब抠कर नऻॎ ॠ ऻॖ.

3. Indivar and Gurpritam are sitting immediately next to each other;
/ ͚. इ胦ॎशर और गॏरोἴतम एक दॐ ऺरॕ कॕ आऺ­पॊऺ बॖठॕ ऻ抠.

4. Hitisha plans to build a new bungalow from Sports earnings so he is
seated immediately next to Plumber on one side and the Architect on
the other; / ͛. ोऻोतहॊ कॎ यख़जनॊ खॕल कॎ कमॊई ऺॕ एक बॠगलॊ बनॊनॕ कॎ ऻॖ इऺोलए शऻ नलऺॊि कॕ पॊऺ बॖठॎ ऻॖ
और उऺकॕ दॐ ऺरॎ तरफ शॊ阐ॏकॊर बॖठॊ ऻॖ.

5. Farzaan always wanted to be an Architect but had to take up another
profession eventually. / ͜. फरजॊन ऻमॕषॊ एक शॊ阐ॏकॊर बननॊ चॊऻतॊ थॊ लॕोकन उऺॕ अॠततख़ग㕜ॊ अ㄰
≠शऺॊय करनॊ पीॊ.

Who amongst the following are most probably seated together? / ोन⎫ोल㑩खत मꝙ
ऺॕ कग़न एक ऺॊथ बॖठॕ ऻख़ ऺकतॕ ऻ抠?

Eraz & Farzaan /  एरॊि और फरजॊन



Eraz & Farzaan /  एरॊि और फरजॊन

Farzaan & Gurpritam /  फरजॊन और गॏरोἴतम

Hitisha & Indivar / ोऻोतहॊ और इ胦ॎशर

Dawar & Eraz /  डॊशर और एरॊि

Correct Answer :­Farzaan & Gurpritam /  फरजॊन और गॏरोἴतम 

8)

Question Stimulus :­

Reasoning

One Day International Batting Averages / एक ोदशऺॎय अॠतररॊ㵼원 ॎय ब䙮ॕबॊजॎ औऺत

 

Given in the Chart are the numbers of One Day International Cricket
Matches played and Average of Runs Scored respectively per match by
Four Players Virat, Shikhar, Mahendra and Yuvraj. / चॊट壗  मꝙ एक ोदशऺॎय अॠतररॊ㵼원 ॎय ो쬺कॕट
मॖच कॎ  ॠऺ殼ॊ और 쬺मषॡ चॊर 㑩खलॊोडयख़ ॠ, ोशरॊट, ोषखर, मऻꝙ澓 और यॏशरॊज 賏ॊरॊ बनॊयॕ गए रनख़ ॠ कॕ औऺत ोदए गए ऻ抠.

Find out approximately how many matches would Shikhar take to score
Runs that Yuvraj has presently scored. / पतॊ लगॊयꝙ ोक यॏशरॊज 賏ॊरॊ बनॊयॕ गए रनख़ ॠ कॎ बरॊबरॎ करनॕ
कॕ ोलए ोषखर कख़ लगभग ोकतनॕ मॖच खॕलनॕ ऻख़ ॠगॕ.

62 / ͙͝

60 / ͗͝

52 / ͙͜

42 / ͙͛



Correct Answer :­52 / ͙͜ 

9)

Question Stimulus :­

Reasoning

If in a language ­ :

black tank is written as vtfri yfzi

mouth is big is written as xabcd dn vdo

zebra waits hourly  is written as jmvkf efdyn labkgp

How would my name is ruth zuber be written in that language? / 

 अगर ोकऺॎ भॊहॊ मꝙ­:

료ॖक ट抠क कख़ शॎटॎएफआरआई  यॊ शॊईएफजॕडआई ोलखॊ जॊयॕ

मॊउथ इज ोबग कख़  ए欙एबॎऺॎडॎ डॎएन शॎडॎओ ोलखॊ जॊयॕ

जॕ観ॊ शॕट्ऺ आशरलॎ  कख़   जॕएमशॎकॕएफ इएफडॎशॊईएन  एलएबॎकॕजॎपॎ ोलखॊ जॊयॕ        

तख़ उऺ भॊहॊ मꝙ मॊई नॕम इजਂथ जॏबर कख़ कॖऺॕ ोलखॊ जॊयॕगॊ?

xp rfxm dn kbyl jbmvk / ए欙पॎ आरएफए欙एम  डॎएन कॕबॎशॊईएल
जॕबॎएमशॎकॕ

xp rxzm dn kbyl jbvmk /  ए欙पॎ आरए欙जॕडएम डॎएन
कॕबॎशॊईएलजॕबॎशॎएमकॕ

xp rfxm dn kybl jbvmk / ए欙पॎ आरएफए欙एम डॎएन कॕशॊईबॎएल
जॕबॎशॎएमकॕ

xp zfxm dn kbyl jbvmk / ए欙पॎ जॕडएफए欙एम डॎएन कॕबॎशॊईएल
जॕबॎशॎएमकॕ

Correct Answer :­xp zfxm dn kbyl jbvmk / ए欙पॎ जॕडएफए欙एम डॎएन कॕबॎशॊईएल
जॕबॎशॎएमकॕ 

10)

Question Stimulus :­



Reasoning

Given is the Sales in Percentage Terms of a Company that Manufactures
and Sells various variants of Soft Drinking Beverages. If the Company has
Sold 10,00,000 Litres of Beverages in all, then approximately how many
Litres of Lemon Flavoured Drinks has the Company Sold in the given
period of time / उपरख़쯋 ोच㭬 मꝙ एक कॠ पनॎ कॎ ोब쬺ॎ कख़ ἴोतषत ऺ胦भ壗 मꝙ ोदखॊयॊ गयॊ ऻॖ, जख़
षॎतल पॕय पदॊथ鏅 कॊ ोनमॊ壗ण और ोब쬺ॎ करतॎ ऻॖ. अगर कॠ पनॎ नॕ कॏ ल ͗͘,͗͗,͗͗͗ लॎटर पॕय पदॊथ壗
बॕचॕ ऻ抠 तख़ एक ोदए ए अशोध मꝙ कॠ पनॎ नॕ ोन楇ॐ  ॏऺरऺ ोमो᎛त पॕय कॕ ोकतनॕ ोलटर पॕय बॕचॕ ऻ抠?

3,75,000 / ͚,͜͞,͗͗

3,25,000 / ͚,͙͜,͗͗͗

2,00,000 / ͙,͗͗,͗͗͗

2,50,000 / ͙,͗͜,͗͗͗

Correct Answer :­3,25,000 / ͚,͙͜,͗͗͗ 

11)

Question Stimulus :­

Reasoning

Complete the Series as below and mention the number that shall come in
place of ‘X’? / नॎचॕ ोदए गए ᎛॑ॠखलॊ कख़ पॐरॊ करꝙ  एशॠ बतॊएॠ  ोक ‘X’ कॕ 쫀थॊन पर 剨ॊ आयॕगॊ?

1   8   27  64  125  216  X

 

256 / ͙͜͝

225 / ͙͙͜

343 / ͚͚͛

512 / ͙͘͜

Correct Answer :­343 / ͚͚͛ 

12)

Question Stimulus :­



Reasoning

When Lalita was accompanying Latika to a Mall in Manipal, Latika pointed
to a person and said that she is that Person’s maternal Aunt’s only
Grandchild. How is the person related to Latika? / जब लोलतॊ लोतकॊ कॕ ऺॊथ मॗल
मꝙ गयॎ, लोतकॊ नॕ एक ≠㑩쯋 कॎ ओर इषॊरॊ करतॕ ए कऻॊ ोक शऻ उऺ आदमॎ कॎ ममॕरॎ चॊचॎ कॊ
एकलग़तॊ  नशॊऺॊ ऻॖ. उऺ ≠㑩쯋 कॊ लोतकॊ ऺॕ 剨ॊ  ॠऺबॠध ऻॖ?

Brother / भॊई

Uncle / चॊचॊ

Grandson / पख़तॊ

Grandfather /  दॊदॊ

Correct Answer :­Uncle / चॊचॊ 

13)

Question Stimulus :­

Reasoning

Sohrab celebrated his birthday which lies on 7th March in the year 2011 on
a Monday. On What day of the week shall his birthday be celebrated in the
year 2013? / ऺख़ऻरॊब नॕ अपनॊ ज꾵ोदन मनॊयॊ जख़ ͞ मॊच壗 शह壗 ͙͗͘͘ कख़ ऺख़मशॊर कख़ आतॊ ऻॖ.
शह壗 ͙͚͗͘ मꝙ शऻ अपनॊ ज꾵ोदन ऻ荎ॕ कॕ ोकऺ ोदन मनॊयॕगॊ?

Thursday / गॏ杯शॊर

Wednesday /  बॏधशॊर

Monday / ऺख़मशॊर

Tuesday / मॠगलशॊर

Correct Answer :­Thursday / गॏ杯शॊर 

14)

Question Stimulus :­

Reasoning

Statement I: Deepika is younger than Katrina / कथन ͘: दॎोपकॊ कटरॎनॊ ऺॕ छख़टॎ ऻॖ.



Statement II: Priyanka was born before Katrina / कथन ͙: ोἴयॠकॊ कॊ ज꾵 कटरॎनॊ ऺॕ पऻलॕ
आ

Statement III: Deepika hates Priyanka / कथन ͚: दॎोपकॊ ोἴयॠकॊ ऺॕ नफरत करतॎ ऻॖ.

If Statement I, Statement II & Statement III are Absolutely True, then­ :
/ अगर कथन ͘, कथन ͙ और कथन ͚ पॐण壗杯प ऺॕ ऺ骢 ऻ抠, तख़­:

Deepika is the Eldest amongst the Three / दॎोपकॊ तॎनख़ ॠ ऺॕ बीॎ ऻॖ

Katrina is the Youngest amongst the Three / कटरॎनॊ तॎनख़ ॠ ऺॕ छख़टॎ
ऻॖ

Priyanka and Deepika are the best friends / ोἴयॠकॊ और दॎोपकॊ
ऺबऺॕ अ찗ॕ दख़阐 ऻ抠

Priyanka is the Eldest amongst the Three / ोἴयॠकॊ तॎनख़ ॠ ऺॕ बीॎ ऻॖ

Correct Answer :­Priyanka is the Eldest amongst the Three / ोἴयॠकॊ तॎनख़ ॠ ऺॕ
बीॎ ऻॖ 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

In which era, life was absent ? / ोकऺ क⛇ (यॏग) मꝙ, जॎशन अनॏप㑩쫀थत थॊ?

Archeozoic / आोक壗 ओिख़इक

Proterozoic / ἴख़टॕरख़िख़इक

Azoic / अिख़इक

Paleozoic / पॖोलओिख़इक

Correct Answer :­Azoic / अिख़इक 

2)

Question Stimulus :­

General Science

DNA Multiplication is known as: / डॎएनए बलॎकरण (ἴजनन/गॏणन) कऻलॊतॊ ऻॖ:



Transcription / ोल ॠౢतरण

Replication / ἴोत杯पण

Translation / अनॏशॊ

Transduction / पॊरगमन

Correct Answer :­Replication / ἴोत杯पण 

3)

Question Stimulus :­

General Science

Pace Maker is a device generally used to stabilize the condition of a person
suffering from: / गोतोनधॊ壗रक (पॕऺमॕकर) एक यά ऻॖ ोजऺॕ ऺॊधॊरणतॡ इऺ ऺॕ पॎोीत ≠㑩쯋
कॎ 㑩쫀थोत कख़ 㑩쫀थर करनॕ कॕ ोलए उपयख़ग ोकयॊ जॊतॊ ऻॖ:

Arrhythmias / अतॊलतॊ (ए�रो園अऺ)

Cataract / मख़ोतयॊोबॠद (कॖटरॕ⣟)

Down’s Syndrome / डॊउन'ऺ ो ॠऺड원 ख़म

Latemeria / लॖटॕमॕ�रयॊ

Correct Answer :­Arrhythmias / अतॊलतॊ (ए�रो園अऺ) 

4)

Question Stimulus :­

General Science

Which of the following statements are correct? / ोन⎫ोल㑩खत मꝙ ऺॕ कग़न ऺॊ कथन
ऺ骢 ऻॖ?

Homo erectus is the ancestor of man / मॊनश कॊ पॐश壗ज ऻख़मख़ इरॕ⣟ऺ ऻॖ

Cro­magnon man’s fossils have been found in Africa / 쬺ख़­मॖगनन मॊनश कॕ जॎशॊ뢋 अ䒽ॎकॊ मꝙ पॊए गए ऻ抠

Australopithecus is the ancestor of modern man / आधॏोनक मॊनश कॊ पॐश壗ज ऑ에원ॊलख़ोपथॕकऺ ऻॖ

Cro­magnon man is the most recent ancestor of Homo sapiens / मॊनश­जॊोत (ऻख़मख़­ऺॕोपय㷺) कॊ
ऺशॊ壗धॏोनक पॐश壗ज 쬺ख़­मॖगनन मॊनश ऻॖ



Correct Answer :­Cro­magnon man is the most recent ancestor of Homo sapiens / मॊनश­जॊोत
(ऻख़मख़­ऺॕोपय㷺) कॊ ऺशॊ壗धॏोनक पॐश壗ज 쬺ख़­मॖगनन मॊनश ऻॖ 

5)

Question Stimulus :­

General Science

Mitosis is the process by which eukaryotic cells: / ऺमोशभॊजन ( ॐऺ㭬ॎोशभॊजन) शऻ
ἴो쬺यॊ ऻॖ ोजऺकॕ 賏ॊरॊ यॏकॊय쥄ोटक कख़ोषकॊएॠ :

grow / बुतॕ ऻ抠

multiply /  ॠऺ殼ॊश॑㑩걑 करतॕ ऻ抠

expose the genes for protein synthesis / ἴख़टॎन  ॠऺ댐ॕहण कॕ ोलए शॠषॊणॏ (गॏण ॐऺ㭬) कख़ अनॊश॑त करतॕ ऻ抠

become specialized in structure and function /  ॠऺरचनॊ एशॠ ो쬺यॊ मꝙ द眏 ऻख़ जॊतॕ ऻ抠

Correct Answer :­multiply /  ॠऺ殼ॊश॑㑩걑 करतॕ ऻ抠 

6)

Question Stimulus :­

General Science

Cycas Revoluta is commonly known as: / ऺॊइकऺ रॕशख़लॏटॊ कॊ ऺॊधॊरण प�रचय ऻॖ:

Date Seed / खजॐर कॊ बॎज

Sago Palm / ोशकॠ गॏ (ऺॊबॐदॊनॊ) तॊी (श॑眏)

Almond / बॊदॊम

Cashew Kernel / कॊजॐ ोगरॎ

Correct Answer :­Sago Palm / ोशकॠ गॏ (ऺॊबॐदॊनॊ) तॊी (श॑眏) 

7)

Question Stimulus :­

General Science

Sound Waves are not transmitted for a long distance because: / 䠸ोन­तरॠगꝙ



लॠबॎ दॐ रॎ तक ἴऺॊ�रत नऻॎ ॠ ऻख़तॎ 剨ख़ॠोक:

They are absorbed by the atmosphere / उꝙ शॊतॊशरण 賏ॊरॊ अशषख़ोहत
कर ोलयॊ जॊतॊ ऻॖ

They have constant frequency / उनकॎ आश॑ो㼺 㑩쫀थर ऻख़तॎ ऻॖ

The height of Antenna is not very high / 聱ॊऻक (ऐᄀॕनॊ) कॎ ऊँचॊई अोधक नऻॎ ॠ ऻॖ

The velocity of sound wave is very less / 䠸ोन­तरॠगख़ ॠ कॎ गोत अ骢ॠत कम ऻख़तॎ ऻॖ

Correct Answer :­They are absorbed by the atmosphere / उꝙ शॊतॊशरण 賏ॊरॊ
अशषख़ोहत कर ोलयॊ जॊतॊ ऻॖ 

8)

Question Stimulus :­

General Science

The World Environment Day is celebrated each year on: / ἴोतशह壗 ोश䐴 पयॊ壗शरण
ोदशऺ इऺ ोदन मनॊयॊ जॊतॊ ऻॖ:

20th November / ͙͗ नशॠबर

5th July / ͜ जॏलॊई

20th May / ͙͗ मई

5th June / ͜ जॐन

Correct Answer :­5th June / ͜ जॐन 

9)

Question Stimulus :­

General Science

Two parallel wires of length 9 m each are separated by a distance of 0.15
m. If they carry equal currents in same direction and exert a total force of
30 X 10­7 N on each other, then the value of the current shall be: / ͠ मॎ. लॠबॕ
दख़ ऺमॊ㣖रॊल तॊर ͗.͘͜ मॎ. कॕ दॐ रॎ पर ऻ抠| योद शॕ एक ऻॎ ोदषॊ मꝙ एक ऺमॊन ोशद्यॏ त­ἴशॊऻ शऻन
करतॕ ऻ抠 एशॠ परƤर पर ͚͗ x ͗͘­͞ कॊ बल लगॊतॕ ऻ抠, तख़ ोशद्यॏ त­ἴशॊऻ कॊ मॊन ऻख़गॊ: 



3.5 A / ͚.͜ A

0.5 A / ͗.͜ A

2.5 A / ͙.͜ A

1.5 A / ͘.͜ A

Correct Answer :­0.5 A / ͗.͜ A 

10)

Question Stimulus :­

General Science

Metamorphosis occurs in: / इन मꝙ कॊयॊॠतरण ऻख़तॊ ऻॖ:

Rat / मॐहक

Bat / चमगॊदी (गॊदॏी)

Amoeba / अमॎबॊ

Frog / मꝙढक

Correct Answer :­Frog / मꝙढक 

11)

Question Stimulus :­

General Science

Which amongst the following is a Poisonous Snake? / ोन⎫ोल㑩खत मꝙ ऺॕ कग़न ऺॊ
एक ोशहधर ऺप壗 ऻॖ?

Russell’s Viper / रऺॕल'ऺ शॊईपर (फरॊ壗न ऺप壗)

Tree Snake / श॑眏 ऺप壗

Passer / पॊऺर

Eryx / एरॎ欙

Correct Answer :­Russell’s Viper / रऺॕल'ऺ शॊईपर (फरॊ壗न ऺप壗) 



12)

Question Stimulus :­

General Science

Sanjay claims to have made an Engine delivering 10kwpower with fuel
consumption of 1g/s. The calorific value of fuel is 2 kcal/g. This claim is :
/  ॠऺजय ͗͘ ोक.शॗ. (kw) ष㑩쯋 एशॠ ͘ 聱ॊ./ऺॕ. (g/s) ईॠधन ≠य (खपत)  ॠऺप㆚ एक इॠजन बनॊनॕ कॊ
दॊशॊ करतॊ ऻॖ| ईॠधन कॊ ऊ窮ॎय मॊन ͙ ोक.कॖल./聱ॊ. (kcal/g) ऻॖ| यऻ दॊशॊ ऻॖ:

Valid / मॊ㄰

Invalid / अमॊ㄰

Dependent on Engine Size / इॠजन कॕ आकॊर पर ोनभ壗रषॎल

Dependent on Load / भॊर पर ोनभ壗रषॎल

Correct Answer :­Invalid / अमॊ㄰ 

13)

Question Stimulus :­

General Science

Magnet’s Magnetism is derived by: / चॏ楇क कॊ चॏ楇क㕜 इऺकॕ 賏ॊरॊ ≠ॏ곐㆚ ऻख़तॊ ऻॖ:

Earth / प॑㽀ॎ

Cosmic Rays / 観㼟ॊ瑾ॎय (मऻॊजॊगोतक) ोकरणख़ ॠ

Pressure of big magnet inside the Earth / प॑㽀ॎ कॕ भॎतर ोशषॊल
चॏ楇क कॊ दॊ

Spin Motion of Electrons / इलॕ⣟원 ॗन कॕ घॐण壗न गोत

Correct Answer :­Spin Motion of Electrons / इलॕ⣟원 ॗन कॕ घॐण壗न गोत 

14)

Question Stimulus :­

General Science



The Decomposition Temperature is maximum in case of: / इऺ ἴकरण मꝙ
अपघटन तॊपमॊन ऺशॊ壗ोधक ऻख़तॊ ऻॖ:

Barium Carbonate / बॕ�रयम कॊब쥄नॕट

Strontium Carbonate / 에원ख़ ॠोटयम कॊब쥄नॕ

Calcium Carbonate / कॖ㑩䶖षयम कॊब쥄नॕट

Magnesium Carbonate / मॖॎोषयम कॊब쥄नॕट

Correct Answer :­Barium Carbonate / बॕ�रयम कॊब쥄नॕट 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

____________ symbol in a flowchart are used to represent all arithmetic
processes like addition, subtraction, multiplication and division. /
__________ ἴशॊऻ  ॠऺोच㭬 (ⷰख़ चॊट壗) कॕ  ॠऺकॕतख़ ॠ कॊ उपयख़ग यख़ग, ोशयख़ग, गॏणन एशॠ ोशभॊजन
जॖऺॕ ऺभॎ अॠकगोणतॎय ἴो쬺यॊओॠ कख़ दषॊ壗नꝙ कॕ ोलए ऻख़तॊ ऻॖ।

Input/output / ोनशॕष/प�रणॊम

Terminal  / छख़र 

Processing / ἴो쬺यॊ

Decision / ोनण壗य

Correct Answer :­Processing / ἴो쬺यॊ 

2)

Question Stimulus :­

Computer

The three attribute  inside the for loop are separated by:  / ‘ऻॕतॏ’ (‘फॗर’) पॊष (लॐप) मꝙ 㑩쫀थत तॎन
ोशषॕहतॊओॠ कख़ इऺकॕ 賏ॊरॊ प॑थक ोकयॊ जॊतॊ ऻॖ:

semicolon / अध壗ोशरॊम



comma / अ⛇ोशरॊम

colon / अपॐण壗 ोशरॊम

hyphen / ऺमॊऺ ोच

Correct Answer :­semicolon / अध壗ोशरॊम 

3)

Question Stimulus :­

Computer

Google chrome is a _________. / गॐगल 쬺ख़म ऻॖ एक _________।

system software / प�रतॠ㭬 तॠ㭬ॊॠष (ऺॗ퐮शॕयर)

browser / ोशचरक (観ॊउिर)

compiler /  ॠऺकलक

none of the above  / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­browser / ोशचरक (観ॊउिर) 

4)

Question Stimulus :­

Computer

___________is/are the available versions of Microprocessors / ________
ॐऺ쾇ἴ쬺मकख़ॠ कॕ उपलꕡ  ॠऺ䕰रण ऻॖ/ऻ抠

J­3 / जॕ­3

L­3 / एल­3

I­3 / आई­3

V­3 / �ॎ­3 

Correct Answer :­V­3 / �ॎ­3  

5)



Question Stimulus :­

Computer

The computer that processes both analog and digital data is called ­­­­­­­­­­. / कॠ ॏౢटर जख़ उभय
अॠकॎय एशॠ अनॏ杯प त⩸ कख़ ἴ ॠऺ䕰॑त करतॊ ऻॖ, शऻ कऻलॊतॊ ऻॖ ________।

analog computer / अनॏ杯प  ॠऺगणक

digital computer / अॠकॎय  ॠऺगणक

hybrid computer / शण壗­ ॠऺकर  ॠऺगणक

mainframe / ब॑ऻत अोभकोल㭬 (अोध ॠऺऺॊोध㭬)

Correct Answer :­hybrid computer / शण壗­ ॠऺकर  ॠऺगणक 

6)

Question Stimulus :­

Computer

Which of the following is an invalid type of memory? / ोन⎫ोल㑩खत मꝙ ऺॕ 剨ॊ 萼रणष㑩쯋 कॊ एक
अमॊ㄰ ἴकॊर ऻॖ? 

RAM (Random Access Memory) / आरएएम (यॊ飳찗/अोनयोमत उपॊगम 萼॑ोत)

ROM (Read Only Memory) / आरओएम (कॕशल पठनॎय 萼॑ोत) 

EPROM (Erasable Programmable Read Only Memory) ईपॎआरओएम (ोशलख़पनयख़⎨
쬺मॊदॕषयख़⎨ कॕशल पठनॎय 萼॑ोत)

PRAM (Programmable Read Access  Only Memory ) / पॎआरएएम (쬺मॊदॕषयख़⎨ कॕशल पठनॎय
उपॊगम 萼॑ोत)

Correct Answer :­PRAM (Programmable Read Access  Only Memory ) / पॎआरएएम
(쬺मॊदॕषयख़⎨ कॕशल पठनॎय उपॊगम 萼॑ोत) 

7)

Question Stimulus :­

Computer

The CPU and memory are available on the: / ऺॎपॎयॏ एशॠ 萼॑ोत इऺ पर उपलꕡ ऻॖ:



expansion board / ोश阐ॊर पटल 

motherboard / मॏ殼 पटल

storage device  / भॠडॊरण यॠ㭬

output device / प�रणॊम यॠ㭬 

Correct Answer :­motherboard / मॏ殼 पटल 

8)

Question Stimulus :­

Computer

____________is a device used as the standard pointing device in a
Graphical User Environment.  / ोच㭬ॊ쀰क उपयख़गकतॊ壗 प�रशॕष मꝙ ≠शत ________
एक मॊनक  ॠऺकॕतक यॠ㭬 ऻॖ।

Keyboard  / कॏॠ जॎ पटल (कॎबख़ड壗) 

Trackball  / ट원 ॖकबॗल 

Joystick  / जॗय㑩에क 

Mouse  / मॊउऺ

Correct Answer :­Mouse  / मॊउऺ 

9)

Question Stimulus :­

Computer

LSI, VLSI & ULSI chips were generally used in which generation? / एलएऺआई, �ॎएलएऺआई एशॠ
यॏएलएऺआई ोचप ऺॊधॊरणत: ोकऺ ἴज꾵 मꝙ ≠शत ऻख़तॕ थॕ? 

Fifth / पॠचम 

Second  / ो賏तॎय

Third  / त॑तॎय

Fourth / चतॏथ壗



Correct Answer :­Third  / त॑तॎय 

10)

Question Stimulus :­

Computer

Possible port available in a modern computer: ______ / आधॏोनक  ॠऺगणक मꝙ
उपलꕡ  ॠऺभॊ≠ 賏ॊर:__________

A) LPT / एलपॎटॎ

B) USB / यॏएऺबॎ

C) (A) and (B) / ए एशॠ बॎ

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­C) (A) and (B) / ए एशॠ बॎ 

11)

Question Stimulus :­

Computer
IP address, Ethernet , Routers are terms related to field of : आईपॎ ोठकॊनॊ,
ईथरनॕट, रॊउट 壗ऺ इऺ 眏ॕ㭬 ऺॕ  ॠऺबॠोधत ष䦚 ऻ抠: 

 Computer Networks /  ॠऺगणक तॠ㭬जॊल 

Computer Graphics /  ॠऺगणक आरॕख 

Computer animation /  ॠऺगणक 䕰ॏ रण

Computer  Vision /  ॠऺगणक 飳ो㵼

Correct Answer :­Computer animation /  ॠऺगणक 䕰ॏ रण 

12)

Question Stimulus :­

Computer

Microsoft .NET is _________. / मॊइ쬺ख़ऺॗ퐮.नॕट ऻॖ _________।



an Open Source / एक मॏ쯋 ᄃख़त 

a Closed Source  / एक ब걑 ᄃख़त

a Browser / एक ोशचरक

all of the above / उपरख़쯋 ऺभॎ 

Correct Answer :­a Closed Source  / एक ब걑 ᄃख़त 

13)

Question Stimulus :­

Computer

___________ is not an application where internet is used. / _________
एक ऐऺॊ अनॏἴयख़ग नऻॎ ॠ ऻॖ जऻॊँ अॠतजॊ壗ल (इॠटरनॕट) कॊ उपयख़ग ऻख़तॊ ऻख़। रख़ऺॗ퐮.नॕट ऻॖ
_________।

Net banking / तॠ㭬जॊल अोधकख़हण (नॕट ब抠ोकॠ ग)

E­commerce / ई­शॊोणꭊ (ई­कॗम 壗ऺ)

Online Shopping / मॊग壗쫀थ 쬺य (ऑनलॊइन षॗोपॠग)

None of the above  / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of the above  / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ 

14)

Question Stimulus :­

Computer

The C++  programming language is very popular or famous because it has: / ऺॎ++ (C++)
쬺मॊदॕषन भॊहॊ अ骢ॠत लख़कोἴय यॊ ἴोऺ걑 ऻॖ 剨ख़ॠोक इऺमꝙ ऻॖ:

backward compatible with C / ऺॎ (C) कॕ ऺॊथ प耓ॊतशत अनॏकॐ ल

widely available / ≠ॊपक 杯प ऺॕ उपलꕡ

object­oriented / श阐ॏोन�

all of the above / उपरख़쯋 ऺभॎ



Correct Answer :­object­oriented / श阐ॏोन� 

Topic:­ G3_Mechanical
1)

Question Stimulus :­

Mechanical

In a free expansion process, / मॏ쯋 ἴऺॊर कॎ ἴो쬺यॊ मꝙ,

the work done is zero / ोकयॊ गयॊ कॊय壗 षॐ㄰ ऻख़ जॊतॊ ऻॖ

the heat transfer is zero / ऊ窮ॊ 쫀थॊनॊॠतरण षॐ㄰ ऻख़तॊ ऻॖ

the work done and heat transfer both are zero / ोकयॊ गयॊ कॊय壗
और ऊ窮ॊ 쫀थॊनॊॠतरण षॐ㄰ ऻख़तॊ ऻॖ

the work done is zero, but the heat transfer increases / ोकयॊ
गयॊ कॊय壗 षॐ㄰ ऻख़तॊ ऻॖ लॕोकन ऊ窮ॊ 쫀थॊनॊॠतरण बु जॊतॊ ऻॖ

Correct Answer :­the work done and heat transfer both are zero / ोकयॊ गयॊ
कॊय壗 और ऊ窮ॊ 쫀थॊनॊॠतरण षॐ㄰ ऻख़तॊ ऻॖ 

2)

Question Stimulus :­

Mechanical

Which of the following Newton’s law states that every action has an equal
and opposite reaction? / ोन⎫ मꝙ ऺॕ ㄰ॐटन कॊ कग़न ऺॊ ोनयम यऻ कऻतॊ ऻॖ ोक ἴ骢ॕक ो쬺यॊ
कॎ एक बरॊबर और ोशपरॎत ἴोतो쬺यॊ ऻख़तॎ ऻॖ?

Newton’s first law of motion / ㄰ॐटन कॊ पऻलॊ गोत कॊ ोनयम

Newton’s second law of motion / ㄰ॐटन कॊ दॐ ऺरॊ गोत कॊ ोनयम

Newton’s third law of motion / ㄰ॐटन कॊ तॎऺरॊ गोत कॊ ोनयम

Newton’s fourth law of motion / ㄰ॐटन कॊ चग़थॊ गोत कॊ ोनयम

Correct Answer :­Newton’s third law of motion / ㄰ॐटन कॊ तॎऺरॊ गोत कॊ ोनयम 

3)



Boyle’s law / बॉयल कॊ ोनयम

All of the above / उपरोঢ सभी

All of the above / उपरोঢ सभी

Question Stimulus :­

Mechanical

Which one of the following is law of perfect gases? /  ोन⎫ मꝙ ऺॕ 剨ॊ आदष壗 गॖऺख़ ॠ
कॊ एक ोनयम ऻॖ?

 

Gay­Lussac’s law / गॕ­लॏऺॊक कॊ ोनयम

Charles’s law / चॊᄘ壗 कॊ ोनयम

 

Correct Answer :­
 

4)

Question Stimulus :­

Mechanical

All heat engines utilise __________ / ऺभॎ ऊ窮ॊ इॠोजन __________ कॊ ἴयख़ग
करतॕ ऻ抠

low heat value of oil  / तॕल कॕ ोन⎫ ऊ窮ॊ मॊन (ऻॎट शॖꎭॐ)

high heat value of oil / तॕल कॕ उ潜 ऊ窮ॊ मॊन (ऻॎट शॖꎭॐ)

net calorific value of oil / तॕल कॕ कॏ ल ऊ窮ॎय मॊन

aggregate calorific value of oil / तॕल कॕ ऺम聱 ऊ窮ॎय मॊन

Correct Answer :­low heat value of oil  / तॕल कॕ ोन⎫ ऊ窮ॊ मॊन (ऻॎट शॖꎭॐ) 

5)

Question Stimulus :­

Mechanical

The flow of steam in a nozzle is subsonic at: / नख़क मꝙ ोन⎫ पर भॊप कॊ ἴशॊऻ
ऺबऺॗोनक ऻख़तॊ ऻॖ



throat / 賜ॕट मꝙ

entrance / ἴशॕष पर

convergent portion  / अोभ ऺ ॊरॎ भॊग पर

divergent portion / अपऺॊरॎ भॊग पर 

Correct Answer :­divergent portion / अपऺॊरॎ भॊग पर  

6)

Question Stimulus :­

Mechanical

What is the effect of force applied on a rigid body? / एक कठख़र श阐ॏ पर लगॊए गए
बल कॊ 剨ॊ ἴभॊश ऻख़तॊ ऻॖ?

acceleration / 㕜रण

retardation / गोतरख़ध

changing direction of motion / गोत कॎ ोदषॊ मꝙ प�रशत壗न

all of the above / ऊपर कॕ ऺभॎ

Correct Answer :­all of the above / ऊपर कॕ ऺभॎ 

7)

Question Stimulus :­

Mechanical

Which one of the following physical quantity is constant in the Gay­
Lussac’s law? / ोन⎫ मꝙ ऺॕ कग़न ऺॎ भग़ोतकॎय मॊ㭬ॊ गॕ­लॏऺॊक कॕ ोनयम मꝙ 㑩쫀थठर रऻतॎ ऻॖ?

Pressure / दॊब 

Volume  / आयतन

Temperature / तॊपमॊन

Weight / भॊर



Correct Answer :­Volume  / आयतन 

8)

Question Stimulus :­

Mechanical

Sweep pattern is used for moulding parts having: / मॏीॕ पॖटन壗 कॊ ἴयख़ग ोन⎫ शॊलॕ
ढलॊई कॕ भॊगख़ ॠ कॕ ोलए ोकयॊ जॊतॊ ऻॖ:

Triangular shape / ो㭬कख़णॎय आकॊर 

elliptical shape / अॠडॊकॊर आकॊर 

uniform symmetrical shape / एक杯प ऺमोमत आकॊर 

complicated shape having intricate details / कोठन जॊनकॊ�रयख़ ॠ शॊलॕ
जोटल आकॊर 

Correct Answer :­uniform symmetrical shape / एक杯प ऺमोमत आकॊर  

9)

Question Stimulus :­

Mechanical

If the temperature of intake air of I.C. engines is lowered, then its
efficiency will  / योद आई.ऺॎ. इॠोजनख़ ॠ कॎ ἴशॕष करतॎ शॊयॏ कॊ तॊपमॊन कम ऻॖ, तख़ उऺकॎ
द眏तॊ

increase / बुॕगॎ

decrease and then will remain constant / घटॕगॎ और 㑩쫀थठर रऻॕगॎ

remain the same / ऺमॊन रऻॕगॎ

increase up to certain limit and then decrease / एक ोनो耓ठत ऺॎमॊ
तक बुॕगॎ और ोफर घटॕगॎ

Correct Answer :­increase / बुॕगॎ 

10)

Question Stimulus :­



Isochoric process / आइसोकॉौरक ঋोॿयॊ

Mechanical

Adiabatic process is also called as:  / 杯걑ख़窮 ἴो쬺यॊ कख़ ोन⎫ भॎ कऻतॕ ऻ抠

Isentropic process / आइऺॕᄀ원 ॗोपक ἴो쬺यॊ

Isenthalpic process / आइऺनथॕ㑩ۅठक ἴो쬺यॊ

 

Isobaric process / आइऺख़बॖ�रक ἴो쬺यॊ

Correct Answer :­Isentropic process / आइऺॕᄀ원 ॗोपक ἴो쬺यॊ 

11)

Question Stimulus :­

Mechanical

What is the significance of zero Poisson’s ratio? / षॐ㄰ पॗइजन अनॏपॊत कॊ 剨ॊ मऻ㕜 ऻॖ ?

Rigid material / कठख़र श阐ॏ

Perfectly plastic material / आदष壗 賜ॊ㑩에ठक श阐ॏ 

Both the above / उपरख़쯋 दख़नख़ ॠ 

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ 

Correct Answer :­None of the above / उपरख़쯋 कख़ई नऻॎ ॠ  

12)

Question Stimulus :­

Mechanical

Determine COP of a refrigeration system if its condenser rejects heat at
the rate of 100 kW and compressor consumes a power of 50kW.  / ἴषॎतलन
ἴणॊलॎ (रॕो䒽जरॕषन ोऺ에म) कॊ ऺॎओपॎ पतॊ कॎोजए योद उऺकॊ  ॠऺघोन㭬 100 ोकलख़ शॊट कॎ दर
पर ऊ窮ॊ छख़ीतॊ ऻॖ और  ॠऺपॎडक 50 ोकलख़ शॊट कॎ ऊजॊ壗 कॊ उपभख़ग करतॊ ऻॖ।

2 / ͙

3 / ͚



4 / ͛

0.5 / ͗.͜

Correct Answer :­2 / ͙ 

13)

Question Stimulus :­

Mechanical

Due to which property material can be drawn into wires:  / ोकऺ गॏण कॕ कॊरण
ोकऺॎ श阐ॏ कख़ तॊरख़ ॠ मꝙ ढॊलॊ जॊ ऺकतॊ ऻॖ:

Ductility / त㄰तॊ

Elasticity / ἴ骢ॊ쫀थतॊ 

Plasticity /  ॏऺनतॊ 

Brittleness / भॠगॏरतॊ 

Correct Answer :­Ductility / त㄰तॊ 

14)

Question Stimulus :­

Mechanical

Which of the following type of shafts can be connected using Oldham’s
coupling? / ओ癶ऻॖम कॕ  ॠऺयख़जक कॊ ἴयख़ग करकॕ ोकऺ ἴकॊर कॕ धॏरॎ­दॠडख़ ॠ कख़ जख़ीॊ जॊ ऺकतॊ
ऻॖ?

Parallel shafts / ऺमॊ㣖र धॏरॎ­दॠड

Mutually perpendicular shafts / पॊरƤ�रक लॠबशत धॏरॎ­दॠड

Collinear shafts /  ॠऺरॕखॎ धॏरॎ­दॠड

Shafts rotating in opposite directions / ोशतरॎत ोदषॊ मꝙ घॐमतॕ धॏरॎ­दॠड

Correct Answer :­Parallel shafts / ऺमॊ㣖र धॏरॎ­दॠड 

15)



Arc of contact / ˙ष१ चॊप  

15)

Question Stimulus :­

Mechanical

Cast iron produced by adding magnesium to molten cast iron
is___________. / ोपघलॕ ए ढलशॊ लख़ऻॕ मꝙ मॖॎोजयम ोमलॊकर तॖयॊर ोकए गए ढलशॊ लख़ऻॕ कख़
_______ कऻतॕ ऻ抠।

nodular cast iron / ोगरऻदॊर ढलशॊ लख़ऻॊ 

chilled cast iron / ठॠ डॊ ढलशॊ लख़ऻॊ 

grey cast iron / 聱ॕ ढलशॊ लख़ऻॊ 

malleable cast iron / नम壗 ढलशॊ लख़ऻॊ 

Correct Answer :­nodular cast iron / ोगरऻदॊर ढलशॊ लख़ऻॊ  

16)

Question Stimulus :­

Mechanical

In case of spur gears, the portion of path of contact from the pitch point to
the end of the engagement of a pair of teeth is called as: / भॏजरख़ध ोगयर कॎ
㑩쫀थोत मꝙ, ोपच ोबॠदॏ ऺॕ दॊॠतख़ ॠ कॕ एक जख़ीॕ कॕ आबॠध कॕ अॠत तक Ƥष壗 पथ कॊ यऻ भॊग कऻलॊतॊ ऻॖ:

Arc of recess / ἴोतऺरण चॊप

 

Arc of approach / उपॊगम चॊप

Arc of departure / ोनगमन चॊप

Correct Answer :­Arc of recess / ἴोतऺरण चॊप 

17)

Question Stimulus :­

Mechanical

A ball dropped from the top of a tower takes 10 seconds to reach the
ground. At what velocity it will strike the ground? (Assume value of



g=9.81m/s2) / एक गꝙद कख़ मॎनॊर (टॗशर) कॕ ऊपर ऺॕ ोगरकर जमॎन तक आनॕ मꝙ 10 ऺॕकॠ ड
कॊ ऺमय लगतॊ ऻॖ। शऻ ोकऺ गोत ऺॕ जमॎन ऺॕ टकरॊएगॎ? (g=9.81 m/s2  कॊ मॊन मॊोनए)

9.81 m/s / ͠.͘͟ मॎ/ऺॕ.

981 m/s   / ͘͟͠ मॎ/ऺॕ.

0.981 m/s  / ͗.͘͟͠ मॎ/ऺॕ.

98.1 m/s   / ͟͠.͘ मॎ/ऺॕ.

Correct Answer :­98.1 m/s   / ͟͠.͘ मॎ/ऺॕ. 

18)

Question Stimulus :­

Mechanical

Violent sound pulsations within the cylinder of an I.C. engine are caused
due to / आई. ऺॎ. इॠोजन कॕ ोऺलꝙडर कॕ अॠदर ऺॕ आनॕ शॊलॊ उ聱 䠸ोन Ƥॠदन ोन⎫ कॕ कॊरण ऻख़तॊ ऻॖ

heavy turbulence and vibration/ भॊरॎ ऻलचल और कॠ पन

improved scavenging / बॕऻतर  ॠऺमॊज壗न (ऺफॊई)

heavy supercharging / भॊरॎ अठोत आशॕोष त

detonation / ोश큨ख़ट

Correct Answer :­detonation / ोश큨ख़ट 

19)

Question Stimulus :­

Mechanical
A beam having fixed support at one end and free at the other end is called
as: / एक ोकरण (बॎम) ोजऺकॕ एक छख़र पर 㑩쫀थर ऺमथ壗न ऻख़ और दॐ ऺरॕ छख़र ऺॕ शऻ मॏ쯋 ऻख़ तख़ उऺॕ
剨ॊ कऻꝙगॕ:

Overhang beam / लटकॎ ई ोकरण

Fixed beam / 㑩쫀थर ोकरण



Cantilever beam / भॏजख़㼺ख़लक ोकरण

Continuous beam / अोशरल ोकरण

Correct Answer :­Cantilever beam / भॏजख़㼺ख़लक ोकरण 

20)

Question Stimulus :­

Mechanical

Diesel engines as compared to petrol engines, require / एक कीॎ (बॎम) ोजऺकॕ
एक छख़र पर 㑩쫀थर ऺमथ壗न ऻख़ और दॐ ऺरॕ छख़र ऺॕ शऻ मॏ쯋 ऻख़ तख़ उऺॕ 剨ॊ कऻꝙगॕ:

bigger flywheel / लटकॎ ई कीॎ (बॎम)

additional flywheel / 㑩쫀थर कीॎ (बॎम)

same size flywheel      / भॏजख़㼺ख़लक कीॎ (बॎम)

extra flywheel / अोशरल कीॎ (बॎम)

Correct Answer :­bigger flywheel / लटकॎ ई कीॎ (बॎम) 

21)

Question Stimulus :­

Mechanical

In case of beams, the point at which shear force changes sign, the value of
bending moment will be: / ोकरण कॎ 㑩쫀थोत मꝙ, शऻ ोबॠदॏ जऻॊॠ अप杯पण बल ोच बदलतॊ
ऻॖ, शऻॊॠ नमन आघॐण壗 (बꝙोडॠग मख़मꝙट)ऻख़गॊ:

Maximum / अोधकतम

Minimum / ㄰ॐनतम

Zero / षॐ㄰

Infinity / अनॠत

Correct Answer :­Maximum / अोधकतम 

22)



22)

Question Stimulus :­

Mechanical

With increase of pressure, the latent heat of steam / दबॊश बुनॕ कॕ ऺॊथ ऻॎ, भॊप
कॎ गॏ ऊ窮ॊ मꝙ

Will not change / कख़ई प�रशत壗न नऻॎ ॠ ऻख़गॊ

increases abnormally / अऺॊमॊ㄰ 杯प ऺॕ बुॕगॎ

decreases / घटॕगॎ

behaves unpredictably / अोनो耓त ढॠग ऺॕ बतॊ壗श करॕगॎ

Correct Answer :­decreases / घटॕगॎ 

23)

Question Stimulus :­

Mechanical

The average shear stress in the hollow shaft is can be transferred to Set 3
/ एक खख़खलॕ धॏरॎ­दॠड मꝙ औऺत अप杯पण दबॊश ऻख़तॊ ऻॖ: ऺमॏ潜य (ऺमॐऻ) 3 मꝙ 쫀थॊनॊॠत�रत ोकयॊ
जॊ ऺकतॊ ऻॖ

Equal to that of in the solid shaft / ठख़ऺ धॏरॎ­दॠड मꝙ औऺत अप杯पण
दबॊश कॕ बरॊबर

More than that of in the solid shaft / ठख़ऺ धॏरॎ­दॠड मꝙ औऺत अप杯पण
दबॊश ऺॕ ꭊॊदॊ

Smaller than that of in the solid shaft / ठख़ऺ धॏरॎ­दॠड मꝙ औऺत
अप杯पण दबॊश ऺॕ कम

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ

Correct Answer :­Smaller than that of in the solid shaft / ठख़ऺ धॏरॎ­दॠड मꝙ औऺत
अप杯पण दबॊश ऺॕ कम 

24)

Question Stimulus :­



Mechanical

The vacuum obtainable in a condenser is dependent upon / एक  ॠऺघोन㭬 मꝙ पॊए
जॊनॕ यख़⎨ ोनशॊ壗त ोन⎫ पर ोनभ壗र करतॊ ऻॖ

capacity of ejector / ोनٿॊऺक कॎ 眏मतॊ

quantity of steam to be handled /  ॠऺभॊलनॕ कॕ ोलए भॊप कॎ मॊ㭬ॊ

capacity of ejector or quantity of steam to be handled /  ॠऺभॊलनॕ
कॕ ोलए ोनٿॊऺक कॎ 眏मतॊ यॊ भॊप कॎ मॊ㭬ॊ

temperature of cooling water / ἴषॎतलन जल कॊ तॊपमॊन

Correct Answer :­temperature of cooling water / ἴषॎतलन जल कॊ तॊपमॊन 

25)

Question Stimulus :­

Mechanical

Which of the following condition is mandatory for a screw to become self­
locking?  / एक पꝙच (䕰ॐ ्) कख़ ऺॕۅ—लॗक करनॕ कॕ ोलए कग़न ऺॎ 㑩쫀थोत आश߮क ऻॖ?

Friction angle is equal to helix angle / घह壗ण कख़ण (ो䒽⮩न एॠ गल)
कॏ 瑾ल कख़ण (ऻॕोल欙 एॠ गल) कॕ बरॊबर ऻख़तॊ ऻॖ

Friction angle is less than helix angle / घह壗ण कख़ण (ो䒽⮩न एॠ गल)
कॏ 瑾ल कख़ण (ऻॕोल欙 एॠ गल) ऺॕ कम ऻख़तॊ ऻॖ

Friction angle is more than helix angle / घह壗ण कख़ण (ो䒽⮩न एॠ गल)
कॏ 瑾ल कख़ण (ऻॕोल欙 एॠ गल) ऺॕ ꭊॊदॊ ऻख़तॊ ऻॖ

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ

Correct Answer :­Friction angle is more than helix angle / घह壗ण कख़ण (ो䒽⮩न
एॠ गल) कॏ 瑾ल कख़ण (ऻॕोल欙 एॠ गल) ऺॕ ꭊॊदॊ ऻख़तॊ ऻॖ 

26)

Question Stimulus :­

Mechanical



At lower temperatures and pressures, the latent heat of vaporisation of a
refrigerant / ोन⎫ तॊपमॊन और दबॊश पर, एक ἴषॎतक (रॕो䒽जरꝙट) कॕ शॊ쒮ॎकरण कॎ गॏ
ऊ窮ॊ­

decreases drastically / बॕऻद ोगर जॊतॎ ऻॖ

increases / बुतॎ ऻॖ

Unchanged / अप�रशोत壗त

depends on other factors / अ㄰ कॊरकख़ ॠ पर ोनभ壗र करतॎ ऻॖ

Correct Answer :­increases / बुतॎ ऻॖ 

27)

Question Stimulus :­

Mechanical

Whirling speed of a shaft coincides with the natural frequency of the
______. / एक धॏरॎ­दॠड कॎ घॐण壗न गोत_______कॎ ἴॊक॑ोतक आश॑ो㼺ठ कॕ ऺॊथ ोमलतॎ ऻॖ।

longitudinal vibration / लॠबशत कॠ पन

transverse vibration / अनॏἴ쫀थ कॠ पन

All of above / उपरख़쯋 ऺभॎ

none of the above / उपरख़쯋 कख़ई नऻॎ ॠ

Correct Answer :­longitudinal vibration / लॠबशत कॠ पन 

28)

Question Stimulus :­

Mechanical

Determine the power transmitted in a belt drive if the tensions in the tight
and slack side are 1200N and 1000N, respectively. The velocity of the belt
is 10m/s: / एक पᩨॕ (बॕ蓬) कख़ चलॊनॕ मꝙ  ॠऺचॊ�रत ऊजॊ壗 कॊ पतॊ लगॊइए योद कऺॕ ए और
ोष ोथ ल ओर मꝙ ἴोतबल 쬺मष: 1200 एन और 1000 एन ऻख़। पᩨॕ कॎ गोत 10 मॎ./ऺॕ. ऻॖ:

1200W / ͙͗͗͘ शॊट



500W / ५०० शॊट 

2200W / ͙͙͗͗ शॊट 

2000W / ͙͗͗͗ शॊट

Correct Answer :­2000W / ͙͗͗͗ शॊट 

29)

Question Stimulus :­

Mechanical

The flow measurement device that produces low head loss, low differential
pressure and has low sensitivity is: / शऻ ἴशॊऻ मॊपन यॠ㭬 जख़ ोन⎫ ोऺरॊ 铲ॊऺ, ोन⎫
अशकलक दबॊश उ곐㆚ करतॊ ऻॖ और ोजऺकॎ  ॠऺशॕदनषॎलतॊ ोन⎫ ऻॖ

Venturi meter / शꝙचॏरॎ मॎटर

Rotameter / रख़टॊमॎटर

Nozzle / नख़ ॠक

Pitot tube / पॊयलट 欃ॐब

Correct Answer :­Pitot tube / पॊयलट 欃ॐब 

30)

Question Stimulus :­

Mechanical

Investment casting is also called as: / ोनशॕष ढलॊई कख़ यऻ भॎ कऻतॕ ऻ抠

Lost wax casting / लॗ에 शॖ欙 ढलॊई (कॊ㑩에ठॠग)

Vacuum casting / ोनशॊ壗त ढलॊई

Evaporative pattern casting / शॊ쒮ॎकरणॎय पॖटन ढलॊई 

Plaster mould casting / 賜ॊ에र ऺॊॠचख़ ॠ कॎ ढलॊई

Correct Answer :­Lost wax casting / लॗ에 शॖ欙 ढलॊई (कॊ㑩에ठॠग) 



31)

Question Stimulus :­

Mechanical

In a two stroke petrol engine, the port that serves as the passage for the
transfer of petrol­and­air mixture from the crankcase into the cylinder is
known as: / दख़­에원ख़क पॕट원 ख़ल इॠोजन मꝙ, शऻ पख़ट壗 जख़ 쬺抠 ककॕऺ ऺॕ ोऺलꝙडर मꝙ पॕट원 ख़ल और शॊयॏ कॕ
ोम᎛ण कख़ भॕजनॕ कॕ ोलए पथ कॕ 杯प मꝙ कॊम करतॊ ऻॖ, उऺॕ कऻतॕ ऻ抠

admission port / ἴशॕष पख़ट壗

inlet port / ἴशॕोष कॊ पख़ट壗

transfer port / अॠतरण पख़ट壗

exhaust port / ोनकॊऺ पख़ट壗

Correct Answer :­transfer port / अॠतरण पख़ट壗 

32)

Question Stimulus :­

Mechanical

Which of the following is an absorption type of dynamometer? / ोन⎫ मꝙ ऺॕ एक
डॊयनॊमख़मॎटर कॊ एक ἴकॊर कॊ ऺमॊशॕष ऻॖ?

Prony brake / ἴॗनॎ 観ॕक

Rope brake / रख़प 観ॕक

Epicyclic train / प�र ोध  ट원 ॕन

Both A and B / A और B दख़नख़ ॠ

Correct Answer :­Both A and B / A और B दख़नख़ ॠ 

33)

Question Stimulus :­

Mechanical

A manufacturer has three products A, B, and C. The profit gained by selling



Minimize z= 50x1+25x2+60x3 / z= 50x1+25x2+60x3 को चरम सीमॊ तक
घटॊइए

Maximize z= 50x1+60x3 / z= 50x1+60x3 को चरम सीमॊ तक बढ़ॊइए

these products is ₹50, ₹25 and ₹60, respectively. What will be the
objective function for the formulation of Linear Programming Problem? /
एक ोनमॊ壗तॊ कॕ पॊऺ तॎन उ곐ॊद A, B, और C ऻ抠। इन उ곐ॊदख़ ॠ कख़ बॕचकर ोमलनॕ शॊलॊ लॊभ 쬺मष:
50 ਂ., 25 ਂ. और 60 ਂ. ऻॖ। रॕखॎ 쬺मॊदॕषन ऺम⼳ॊ कॕ ोन杯पण कॕ ोलए ल फलन 剨ॊ ऻख़गॊ?

Maximize z= 50x1+25x2+60x3 / z= 50x1+25x2+60x3 कख़ चरम
ऺॎमॊ तक बुॊइए

 
 

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Maximize z= 50x1+25x2+60x3 / z= 50x1+25x2+60x3 कख़
चरम ऺॎमॊ तक बुॊइए 

34)

Question Stimulus :­

Mechanical

For a thermodynamic process to be reversible, the temperature difference
between hot body and working substance should be: ­ can be transferred
to Set 2 / ऊ窮ॊगोतकॎ कॎ ἴो쬺यॊ कख़ उलटनॕ कॕ ोलए, गम壗 श阐ॏ और कॊय壗षॎल पदॊथ壗 कॕ बॎच
तॊपमॊन कॊ अॠतर ऻख़नॊ चॊोऻए: ऺमॏ潜य (ऺमॐऻ) 2 मꝙ 쫀थॊनॊॠत�रत ोकयॊ जॊ ऺकतॊ ऻॖ

Negative / नकॊरॊ쀰क

Infinity / अनॠत

Maximum / अोधकतम

Zero / षॐ㄰

Correct Answer :­Zero / षॐ㄰ 

35)

Question Stimulus :­

Mechanical



In a thermodynamic cycle, the heat is rejected at:­ / एक ऊ窮ॊगोतकॎ च쬺 मꝙ, ऊ   
窮ॊ ोन⎫ पर खॊ�रज ऻख़ जॊतॎ ऻॖ:­

Constant temperature / 㑩쫀थर तॊपमॊन

Constant enthalpy  / 㑩쫀थर तॊपॎय धॊ�रतॊ

Constant volume / 㑩쫀थर मॊ㭬ॊ

Constant pressure / 㑩쫀थर दबॊश

Correct Answer :­Constant volume / 㑩쫀थर मॊ㭬ॊ 

36)

Question Stimulus :­

Mechanical

In case of a riveted joint, the tearing efficiency is 40%. What will be the
ratio of diameter of rivet to the pitch?  / लशॠगकॎोलत जख़ीख़ ॠ (�रोशटॕड जॗइᄀ्ऺ) कॎ
㑩쫀थोत मꝙ, फटन द眏तॊ 40% ऻख़तॎ ऻॖ। ऺॎमॊ कॎ ओर कॎल कॕ ≠ॊपॊर कॊ अनॏपॊत 剨ॊ ऻख़गॊ?

0.6 / ͗.͝

0.5 / ͗.͜

0.25 / ͗.͙͜

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­0.6 / ͗.͝ 

37)

Question Stimulus :­

An engine working between positive temperatures ___________. /
ऺकॊरॊ쀰क तॊपमॊनख़ ॠ कॕ बॎच कॊम कर रऻॊ एक इॠोजन ______________।

can be a heat pump / एक गम壗 प睄 ऻख़ ऺकतॊ ऻॖ

can be a heat pump only if frictionless machine is used / एक
गम壗 प睄 ऻख़ ऺकतॊ ोऺफ壗  तभॎ योद घह壗णरोऻत मषॎनख़ ॠ कॊ ἴयख़ग ोकयॊ जॊए।

must be a heat pump / एक गम壗 प睄 ऻख़नॊ चॊोऻए



must be a heat pump / एक गम壗 प睄 ऻख़नॊ चॊोऻए

cannot be a heat pump / एक गम壗 प睄 नऻॎ ॠ ऻख़ ऺकतॊ ऻॖ।

Correct Answer :­must be a heat pump / एक गम壗 प睄 ऻख़नॊ चॊोऻए 

38)

Question Stimulus :­

Mechanical

How much percentage of chromium is present in high speed steel which is
specified by designation 18­4­1? /  ॠऺकॕत 18—4—1 賏ॊरॊ ोनोद壗㵼 उ潜 गोत कॎ इƤॊत
(에ॎल) मꝙ ोकतनॕ ἴोतषत 쬺ख़ोमयम मग़जॐद ऻख़तॊ ऻॖ?

4 / ͛

18 / ͘͟

1 / ͘

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­4 / ͛ 

39)

Question Stimulus :­

Mechanical

The relation between the Poisson’s ratio (γ), longitudinal strain (εL) and
transverse strain (εn) is correctly given by which of the following
expressions? / ोन⎫ मꝙ ऺॕ कग़न ऺॊ ऺमॎकरण पॗइजन अनॏपॊत (γ), ल楇शत झॏकॊश (εL), और
अनॏἴ쫀थ झॏकॊश (εn) कॕ बॎच कॕ  ॠऺबॠध कख़ अ찗ॎ तरऻ ऺॕ ἴदोषठ壗त करतॊ ऻॖ?

γ = εL / εc  /  γ = εL / εc

γ = εC / εL  /  γ = εC / εL

γ = ­ εL / εc  /  γ = ­ εL / εc

None of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­γ = ­ εL / εc  /  γ = ­ εL / εc 

40)

Question Stimulus :­

Mechanical

When steel is added with vanadium, the effect is: / जब इƤॊत (에ॎल) मꝙ
शनॕोडयम ोमलॊ ोदयॊ जॊतॊ ऻॖ, तख़ उऺकॊ ἴभॊश 剨ॊ ऻख़तॊ ऻॖ:

Increase in tensile strength / तनन कॎ मजबॐतॎ मꝙ श॑㑩걑

Decrease in tensile strength / तनन कॎ मजबॐतॎ मꝙ कमॎ

Decrease in compressive strength / ऺ睄ॎीक मजबॐतॎ मꝙ कमॎ

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Decrease in tensile strength / तनन कॎ मजबॐतॎ मꝙ कमॎ 

41)

Question Stimulus :­

Mechanical

The increase in pressure:­ / दबॊश मꝙ श॑㑩걑:

Does not affect the boiling point of a liquid  / 澓≠ कॕ 靸थनॊॠक कख़
ἴभॊोशत नऻॎ ॠ करतॎ ऻॖ

Reduces its volume / उऺकॎ मॊ㭬ॊ कख़ घटॊतॎ ऻॖ

Lowers the boiling point of a liquid / 澓≠ कॕ 靸थनॊॠक कख़ कम करतॎ ऻॖ

Raises the boiling point of a liquid / 澓≠ कॕ 靸थनॊॠक कख़ बुॊतॎ ऻॖ

Correct Answer :­Raises the boiling point of a liquid / 澓≠ कॕ 靸थनॊॠक कख़ बुॊतॎ
ऻॖ 

42)

Question Stimulus :­

Mechanical



20 N­m anticlockwise / २० एन­एम शॊमॊशत१
500 N­m clockwise / ५०० एन­एम दो঴ णॊशत१

The ratio of the stroke to the crank radius in an I.C. engine is given as: /
एक आई.ऺॎ. इॠोजन मꝙ अरॊल ो㭬ꭊॊ मꝙ घॊत कॊ अनॏपॊत ऻॖ:

1:1 / ͘:͘

2:1 / ͙:͘

1:2 / ͘:͙

3:2 / ͚:͙

Correct Answer :­2:1 / ͙:͘ 

43)

Question Stimulus :­

Mechanical

A vertically upward force of 100N is acting at point P in the x­y plane. The
coordinates of point P are (5,0) in meters. The moment of the force about
origin will be: M  can be transferred to Set 3 / 100 एन कॎ एक लॠबशत आरख़ऻॎ बल
x­y ऺपॊट मꝙ ोबॠदॏ P पर कॊम कर रऻॊ ऻॖ। ोबॠदॏ P कॕ ोनयॊमक मॎटर मꝙ (5,0) ऻ抠। आरॠभ मꝙ बल कॊ
आघॐण壗 ऻख़गॊ: म ऺॕट 3 मꝙ 쫀थॊनॊॠत�रत ोकयॊ जॊ ऺकतॊ ऻॖ

100 N­m clockwise / ͗͗͘ एन­एम दो眏 णॊशत壗

 
 

500 N­m anticlockwise / ͗͗͜ एन­एम शॊमॊशत壗 

Correct Answer :­500 N­m anticlockwise / ͗͗͜ एन­एम शॊमॊशत壗  

44)

Question Stimulus :­

The line which gives the sum of pressure head, datum head and kinetic
head of a flowing fluid in a pipe with respect to some reference line is
called as: / ोकऺॎ अनॏमख़दक ἴणॊलॎ कॕ  ॠऺदभ壗 मꝙ एक पॊइप मꝙ ἴशॊोऻत 澓श कॕ दबॊश षॎह壗, आधॊर
तल षॎह壗 और गोतज षॎह壗 कॊ यख़ग दॕनॕ शॊलॎ ἴणॊलॎ कख़ 剨ॊ कऻतॕ ऻ抠:

Hydraulic Gradient Line / जलॎय उपॊगम ἴणॊलॎ

Total Energy Line / ऺम聱 ऊजॊ壗 ἴणॊलॎ
Total friction line / ऺम聱 घह壗ण ἴणॊलॎ



Total friction line / ऺम聱 घह壗ण ἴणॊलॎ

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Total Energy Line / ऺम聱 ऊजॊ壗 ἴणॊलॎ 

45)

Question Stimulus :­

Mechanical

The rate of heat transfer across any plane normal to the ‘x’ direction is
proportional to the wall area and the temperature gradient in the ‘x’
direction. This statement is also referred to as: / ोकऺॎ ऺपॊट अधख़लॠब ऺॕ ‘x’ ोदषॊ
मꝙ ऊ窮ॊ 쫀थॊनॊॠतरण कॎ दर दॎशॊर कॕ 眏ॕ㭬 और ‘x’ोदषॊ मꝙ तॊपमॊन उपॊगम कॎ अनॏपॊतॎ ऻॖ। इऺ कथन
कख़ ोन⎫ ἴकॊर ऺॕ भॎ  ॠऺदोभ壗त ोकयॊ जॊतॊ ऻॖ:

Second Law of Thermodynamics / ऊ窮ॊगठोत कॎ कॊ दॐ ऺरॊ ोनयम

Kelvin’s Law   /  कॕ㑩᜕ठन कॊ ोनयम

Third Law of Thermodynamics / ऊ窮ॊगठोत कॎ कॊ तॎऺरॊ ोनयम

Fourier’s Law / फख़�रयर कॊ ोनयम

Correct Answer :­Fourier’s Law / फख़�रयर कॊ ोनयम 

46)

Question Stimulus :­

Mechanical

Case hardening process is: / आशरण 飳ुॎकरण करनॕ कॎ ἴो쬺यॊ ऻॖ

Carburizing / कॊबॏ壗रॊइोजॠग

Nitriding / नॊइट원 ॊइोडॠग

Cyaniding / ऺॊइनॊइोडॠग

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 



47)

Question Stimulus :­

Mechanical

Which one of the following is used in the Value Analysis of any product? /
ोन⎫ मꝙ ऺॕ 剨ॊ ोकऺॎ उ곐ॊद कॕ मॐꎭ ोश댐ॕहण मꝙ ἴयख़ग ोकयॊ जॊतॊ ऻॖ?

FAST

CPM

PERT

MOST

Correct Answer :­FAST 

48)

Question Stimulus :­

Mechanical

The material commonly used for air craft gas turbine is:­ / ोशमॊन कॕ गॖऺ टबॊ壗इन
मꝙ ऺॊमॊ㄰ तग़र पर ἴयख़ग ोकए जॊनॕ शॊलॎ ऺॊम聱ॎ ऻॖ:

High alloy steel / उ潜 धॊतॏ इƤॊत (에ॎल)  

Duralumin / 䔻ॐरॕलॏोमन

Zinc / ज阐ॊ (ोजॠक)

Titanium / टॊइटॕोनयम

Correct Answer :­Duralumin / 䔻ॐरॕलॏोमन 

49)

Question Stimulus :­

Mechanical

The shear force at the cross section of a beam is defined as: / एक ोकरण कॕ
अनॏἴ쫀थ अॠष पर अप杯पण बल कख़ ोन⎫ ἴकॊर ऺॕ पॊ�रभॊोह त ोकयॊ जॊतॊ ऻॖ:



Algebraic sum of all the forces on  both sides of the section / अंष के
दोनो ंओर पर सभी बलो ंकॊ बीजीय योग

Algebraic sum of all the forces on either left or right sides of
the section / अॠष कॎ बॊॠई यॊ दॊॠई ओर पर ऺभॎ बलख़ ॠ कॊ बॎजॎय यख़ग

Algebraic difference of all the forces on either sides of the
section / अॠष कॕ ोकऺॎ भॎ ओर पर ऺभॎ बलख़ ॠ कॊ बॎजॎय यख़ग

 

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ 

Correct Answer :­Algebraic sum of all the forces on either left or right
sides of the section / अॠष कॎ बॊॠई यॊ दॊॠई ओर पर ऺभॎ बलख़ ॠ कॊ बॎजॎय यख़ग 

50)

Question Stimulus :­

Mechanical

In vapour absorption refrigeration systems, which of the following fluids
are commonly used?  / शॊ쒮 अशषख़हण ἴषॎतन ἴणॊोलयख़ ॠ मꝙ, ोन⎫ मꝙ ऺॕ ोकन 澓≠ख़ॠ कॊ ἴयख़ग
ἴॊय: ोकयॊ जॊतॊ ऻॖ?

air and water / शॊयॏ और जल

sulphur dioxide and water / ऺۅर डॊयऑ欙ॊइड और जल

ammonia and water / अमख़ोनयॊ और जल

freon and water / 䒽ॕयॗन और जल

Correct Answer :­ammonia and water / अमख़ोनयॊ और जल 

51)

Question Stimulus :­

Mechanical

Which of the following is expected to have highest thermal conductivity? /
ोन⎫ मꝙ ऺॕ ोकऺकॎ तॊप चॊलकतॊ ऺबऺॕ अोध क ऻख़नॕ कॎ  ॠऺभॊशनॊ ऻॖ?

Water / पॊनॎ



Steam / भॊप

Solid ice / ठख़ऺ बफ壗

Melting ice / ोपघलतॎ बफ壗

Correct Answer :­Solid ice / ठख़ऺ बफ壗  

52)

Question Stimulus :­

Mechanical

In actual refrigeration systems, the compressor handles vapour only. This
process commonly referred to as: / शॊ阐ोशक षॎतलन ἴणॊोलयख़ ॠ मꝙ,  ॠऺपॎडक कॕशल भॊप
कख़  ॠऺभॊलतॊ ऻॖ। इऺ ἴो쬺यॊ कख़ ἴॊय: ोन⎫ कऻतॕ ऻ抠:

Gas compression / गॖऺ  ॠऺपॎडक

Phase compression     / अश쫀थॊ  ॠऺपॎडक 

Dry compression / षॏٿ  ॠऺपॎडक 

Wet compression / तरल  ॠऺपॎडक

Correct Answer :­Dry compression / षॏٿ  ॠऺपॎडक  

53)

Question Stimulus :­

Mechanical

Which one of the following technique is used in TQM? / ोन⎫ मꝙ ऺॕ ोकऺ तकनॎक
कॊ ἴयख़ग TQM मꝙ ोकयॊ जॊतॊ ऻॖ?

PDCA

JIT

SQC

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 



54)

Question Stimulus :­

Mechanical

In case of thin cylinders, the hoop stress is also called as: / पतलॕ ोऺलꝙडर कॎ
㑩쫀थ ोत  मꝙ, प�रधॎय ἴोतबल कख़ कऻॊ जॊतॊ ऻॖ:

Normal stress / ऺॊमॊ㄰ ἴोतबल

Shear stress / अप杯पण ἴोतबल

Longitudinal stress / अनॏदॖ럂壗 ἴोतबल

Circumferential stress / मॠडल (प�रधॎय) ἴोतबल

Correct Answer :­Circumferential stress / मॠडल (प�रधॎय) ἴोतबल 

55)

Question Stimulus :­

Mechanical

Power transmission between two perpendicular non­intersecting shafts
can be achieved using_____ / दख़ लॠबशत गॖर­अनॏἴ쫀थ धॏरॎ­दॠडख़ ॠ कॕ ोलए ऊजॊ壗 कॊ  ॠऺचॊर
................. कॊ ἴयख़ग करकॕ ोकयॊ जॊ ऺकतॊ ऻॖ।

Spur gears / Ƥर ोगअर

Helical gears / ऻॕोलकल ोगअर

herringbone gear / ऻॕ�रॠगबख़न ोगअर

Bevel gearing / बॎशल ोगअ�रॠग

Correct Answer :­Bevel gearing / बॎशल ोगअ�रॠग 

56)

Question Stimulus :­

Mechanical

What is the method of joining two similar or dissimilar metals using a



What is the method of joining two similar or dissimilar metals using a
special fusible alloy? / एक ोशषॕह  ॠऺगलनॎय ोमो᎛त धॊतॏ (एलॗय) कॊ ἴयख़ग करकॕ दख़ ऺमॊन
यॊ अऺमॊन धॊतॏओॠ कख़ जख़ीनॕ कॎ ोशोध  कख़ 剨ॊ कऻतॕ ऻ抠?

Brazing / उ潜तॊप टॊॠकॊ लगॊनॊ

Soldering / टॠकॊई

Arc welding /  शॖद्यॏ ोत क झलॊई 

None of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Brazing / उ潜तॊप टॊॠकॊ लगॊनॊ 

57)

Question Stimulus :­

Mechanical

What should be the size of weld in case of butt welded joint? / बट झलॊई जख़ी
कॎ 㑩쫀थ ोत  मꝙ झॊल कॊ आकॊर 剨ॊ ऻख़नॊ चॊोऻए?

Twice the throat of weld / झॊल कॎ 賜ॕट कॊ दख़गॏनॊ

Half of the throat of weld / झॊल कॎ 賜ॕट कॊ आधॊ

Equal to the throat of weld / झॊल कॎ 賜ॕट कॕ बरॊबर

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ 

Correct Answer :­Equal to the throat of weld / झॊल कॎ 賜ॕट कॕ बरॊबर 

58)

Question Stimulus :­

Mechanical

Moisture would find its way into insulation by vapour pressure unless it is
prevented by:­ / नमॎ शॊ쒮 कॕ दबॊश 賏ॊरॊ रख़धन तक जॊनॕ कॊ रॊ阐ॊ खख़ज लॕगॎ जब तक ोक उऺॕ
ोन⎫ 賏ॊरॊ रख़कॊ न जॊए:­

A vapour seal / शॊ쒮 ऺॎल

Less thermal conductivity insulator / कम तॊप चॊलकतॊ शॊलॊ रख़धक

High thickness of insulation / ꭊॊदॊ मख़टॊई कॊ रख़धन



High thickness of insulation / ꭊॊदॊ मख़टॊई कॊ रख़धन

High vapour pressure / उ潜 शॊ쒮 दबॊश

Correct Answer :­A vapour seal / शॊ쒮 ऺॎल 

59)

Question Stimulus :­

Mechanical

The lip angle of a single point cutting tool is: एक ोबॠदॏ कोटॠग उपकरण कॊ  ॠऺश॑तख़㵼
कख़ण ऻॖ:

10º  to 30º / ͗͘ º ऺॕ ͚͗ º

30º  to 60º / ͚͗ º ऺॕ ͗͝ º

50º  to 60º / ͗͜ º ऺॕ ͗͝ º

60º  to 80º / ͗͝ º ऺॕ ͗͟ º

Correct Answer :­60º  to 80º / ͗͝ º ऺॕ ͗͟ º 

60)

Question Stimulus :­

Mechanical

Which of the following is the correct definition of modulus of resilience of
a material? / एक ऺॊम聱ॎ कॕ ἴ骢ॊ쫀थतॊ कॎ मॗडॏलऺ कॎ ऺऻॎ प�रभॊहॊ ोन⎫ मꝙ ऺॕ 剨ॊ ऻॖ?

 

Strain energy / ोशक॑ ोत  ऊजॊ壗

Strain energy per unit mass / ἴोत इकॊई भॊर पर ोशक॑ोत  ऊजॊ壗 

Strain energy per unit volume / ἴोत  इकॊई आयतन पर ोशक॑ोत  ऊजॊ壗

None of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Strain energy per unit volume / ἴोत  इकॊई आयतन पर ोशक॑ोत 
ऊजॊ壗 



Acme / ोष खर
Square  / शग१

Multiple / अपशȑ१

61)

Question Stimulus :­

Mechanical

The purpose of normalizing is: / मॊनकॎकरण कॊ उॕ߮ ऻॖ:

Grain structure refinement / कण  ॠऺरचनॊ प�रٿरण

Removal of strains caused by cold working / भॊशषॐ㄰ कॊय壗 कॕ
कॊरण लगॕ दॊगख़ ॠ कख़ ऻटनॊ

Removal of dislocations in internal structure due to hot
working / अ骢ोध क कॊम कॕ कॊरण आॠत�रक  ॠऺरचनॊ मꝙ ई गीबी कख़ ऻटॊनॊ

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 

62)

Question Stimulus :­

Mechanical

To transmit power only in one direction, which of the following is the most
suitable screw thread? / ऊजॊ壗 कख़ ोऺफ壗  एक ऻॎ ोदषॊ मꝙ  ॠऺचॊ�रत करनॕ कॕ ोलए, ोन⎫ मꝙ ऺॕ
कग़न ऺबऺॕ उपयॏ쯋 पꝙचदॊर ऻॖ?

 
 

 

Buttress / टॕक (बटरऺ)

Correct Answer :­Buttress / टॕक (बटरऺ) 

63)

Question Stimulus :­

Mechanical

. Case hardening process is: / आशरण 飳ुॎकरण ἴो쬺यॊ ऻॖ:

Carburising / कॊबॏ壗रॊइोजॠग



Carburising / कॊबॏ壗रॊइोजॠग

Nitriding / नॊइट원 ॊइोडॠग

Cyaniding / ऺॊयनॊइोडॠग

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 

64)

Question Stimulus :­

Mechanical

Moment of inertia about an axis perpendicular to the plane of an area is
known as: / एक 眏ॕ㭬 कॕ ऺपॊट ऺॕ लॠबशत एक अ眏 मꝙ जी㕜 आघॐण壗 कख़ कऻॊ जॊतॊ ऻॖ:

First moment / ἴथम आघॐण壗

Second moment / ो賏तॎय आघॐ

Polar moment / Ǆॏशॎय आघॐण壗

Axial moment / अ眏ॎय आघॐण壗

Correct Answer :­Polar moment / Ǆॏशॎय आघॐण壗 

65)

Question Stimulus :­

Mechanical

Atmospheric pressure is 1.03 kg/cm2 and vapour pressure is 0.03 kg/cm2.
So, the air pressure will be / शॊयॏमॠडलॎय दॊब 1.03 ोक聱ॊ/शग壗 मॎ. और शॊ쒮 दॊब 0.03
ोक聱ॊ/शग壗 मॎ. ऻॖ। तख़ शॊयॏ दॊब ऻख़गॊ

1.03 kg/cm2 / ͘.͚͗ ोक聱ॊ/शग壗 मॎ.

1.06 kg/cm2 / ͘.͗͝ ोक聱ॊ/शग壗 मॎ.

1 kg/cm2  / ͘ ोक聱ॊ/शग壗 मॎ.



Design stress/ ultimate stress / ोडजॊइन ঋोत बल/चरण ঋोत बल
Ultimate stress/ design stress / चरम ঋोत बल / ोडजॊइन ঋोत बल
Ultimate stress* design stress चरम ঋोत बल*ोडजॊइन ঋोत बल

Ultimate stress/ design stress / चरम ঋोत बल / ोडजॊइन ঋोत बल

0.53 kg/cm2  / ͗.͚͜ ोक聱ॊ/शग壗 मॎ.

Correct Answer :­1 kg/cm2  / ͘ ोक聱ॊ/शग壗 मॎ. 

66)

Question Stimulus :­

Mechanical

When all the bonds in an organic compound are single, it is said to be:­ /
एक कॊब壗ोनक यग़ोगक मꝙ जब ऺभॎ बॠध एकल ऻख़ ॠ, तख़ उऺॕ कऻॊ जॊतॊ ऻॖ:

Saturated /  ॠऺत॑

Cross linked / अनॏἴ쫀थ  ॠऺब걑

Polymerized / बलोकत

Covalent bonding / ऺऻ ॠऺयख़जॎ बॠध (कख़शॖलꝙट बॗ)

Correct Answer :­Covalent bonding / ऺऻ ॠऺयख़जॎ बॠध (कख़शॖलꝙट बॗ) 

67)

Question Stimulus :­

Mechanical

Which of the following is the correct relationship to determine the factor
of safety in designing machine elements? / यॠ㭬ख़ ॠ कख़ त㕜ख़ॠ कख़ ोडजॊइन करनॕ मꝙ  ॏऺर眏ॊ
कॕ कॊरकख़ ॠ कख़ ोनधॊ壗�रत करनॕ कॕ ोलए ोन⎫ मꝙ ऺॕ 剨ॊ ऺऻॎ  ॠऺबॠध ऻॖ?

 
 
 

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­
 

68)

Question Stimulus :­



Mechanical

Which one of the following is a process under job evaluation? / ोन⎫ मꝙ ऺॕ कॊय壗
मॐꎭॊॠकन कॎ एक ἴो쬺यॊ ऻॖ?

Job description / कॊय壗 ोशशरण

Job analysis / कॊय壗 ोश댐ॕहण

Job specification / कॊय壗 अोभ ोश㄰ॊऺ

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 

69)

Question Stimulus :­

Mechanical

In case of a planer: / एक 賜ॖनर कॎ 㑩쫀थ ोत मꝙ:

Work is stationary and tool reciprocates / कॊम अप�रशोत壗त ऻॖ और
उपकरण (टॐ ल) बदलतॊ ऻॖ

Work reciprocates and tool is stationary / कॊम बदलतॊ ऻॖ और
उपकरण (टॐ ल) अप�रशोत壗त ऻॖ

Work and tool both reciprocate / कॊम और उपकरण (टॐ ल) दख़नख़ ॠ बदलतॕ
ऻ抠

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ

Correct Answer :­Work reciprocates and tool is stationary / कॊम बदलतॊ ऻॖ और
उपकरण (टॐ ल) अप�रशोत壗त ऻॖ 

70)

Question Stimulus :­

Mechanical

Compression ratio of I.C. engines is_______ / आई.ऺॎ. इॠोजनख़ ॠ कॊ  ॠऺपॎडन अनॏपॊत
................ ऻॖ



the ratio of volumes of air in cylinder before compression
stroke and after compression stroke /  ॠऺपॎडन घॊत ऺॕ पऻलॕ और

ॠऺपॎउन घॊत कॕ बॊद ोऺलꝙडर मꝙ शॊयॏ कॕ आयतन कॊ अनॏपॊत

volume displaced by piston per stroke and clearance volume in
cylinder / ἴोत घॊत ोप에न 賏ॊरॊ ἴोत쫀थॊोपत आयतन और ोऺलꝙडर कॎ ोनग壗म
आयतन

ratio of pressure after compression and before compression /
ॠऺपॎडन कॕ बॊद और  ॠऺपॎडन कॕ पऻलॕ दॊब कॊ अनॏपॊत

Ratio of cylinder volume to pressure / दॊब मꝙ ोऺलꝙडर कॕ आयतन कॊ
अनॏपॊत 

Correct Answer :­the ratio of volumes of air in cylinder before compression
stroke and after compression stroke /  ॠऺपॎडन घॊत ऺॕ पऻलॕ और  ॠऺपॎउन घॊत कॕ बॊद
ोऺलꝙडर मꝙ शॊयॏ कॕ आयतन कॊ अनॏपॊत 

71)

Question Stimulus :­

Mechanical

A ship whose hull length is 100 m is to travel at 10 m/sec. For dynamic
similarity, at what velocity should a 1: 25 model be towed through water?
/ एक जऻॊॠ ोजऺकॎ पख़तकॊय लॠबॊई 100 मॎ. ऻॖ, शऻ 10 मॎ./ऺॕ. कॎ गोत ऺॕ यॊ㭬ॊ करतॎ ऻॖ। गोतज
ऺमॊनतॊ कॕ ोलए, एक 1:25 मॗडल कख़ पॊनॎ पर ोकऺ गोत पर घऺॎटनॊ चॊोऻए?

10 m/sec ͗͘ मॎ./ऺॕ.

50 m/sec / ͗͜ मॎ./ऺॕ.

2 m/sec / ͙ मॎ./ऺॕ

None of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­2 m/sec / ͙ मॎ./ऺॕ 

72)

Question Stimulus :­

Mechanical

In Iron Carbon equilibrium diagram, the X axis is represented by: / लग़ऻ



In Iron Carbon equilibrium diagram, the X axis is represented by: / लग़ऻ
कॊब壗न  ॠऺतॏलन आरॕख मꝙ, X अ眏 कख़ ोन⎫ 賏ॊरॊ ἴदोषठ壗त ोकयॊ जॊतॊ ऻॖ:

Carbon percentage / कॊब壗न ἴोतषत

Temperature / तॊपमॊन

Nickel percentage / ोनकल कॊ ἴोतषत

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­Carbon percentage / कॊब壗न ἴोतषत 

73)

Question Stimulus :­

Mechanical

Which one of the following is the correct value of standard atmospheric
pressure? / ोन⎫ मꝙ ऺॕ 剨ॊ मॊनक शॊयॏमॠडलॎय दॊब कॊ ऺऻॎ मॊन ऻॖ?

1.013 bar / ͘.͚͗͘ बॊर

760 mm of Hg / ͗͞͝ ोममॎ ऑफ एचजॎ

10.3 mm of water / ͗͘.͚ ोममॎ ऑफ शॗटर

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 

74)

Question Stimulus :­

Mechanical

In a plane stress condition, which of the following statements is true? /
ऺपॊट ἴोत बल कॎ 㑩쫀थठोत  मꝙ, ोन⎫ मꝙ ऺॕ कग़न ऺॊ कथन ऺऻॎ ऻॖ?

A. One of the principal strains is equal to zero / ἴमॏख ोशक॑ोतयख़ ॠ मꝙ ऺॕ एक षॐ㄰ कॕ
बरॊबर ऻख़तॎ ऻॖ

  B. One of the principal stresses is equal to zero / ἴमॏख ἴोतबलख़ ॠ मꝙ ऺॕ एक षॐ㄰ कॕ
बरॊबर ऻख़तॊ 

statement A alone is true / ोऺफ壗  कथन A ऺऻॎ ऻॖ



statement A alone is true / ोऺफ壗  कथन A ऺऻॎ ऻॖ

statement B alone is true / ोऺफ壗  कथन B ऺऻॎ ऻॖ

Both the statements A and B are true / A और B दख़नख़ ॠ कथन ऺऻॎ ऻ抠

none of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­statement B alone is true / ोऺफ壗  कथन B ऺऻॎ ऻॖ 

75)

Question Stimulus :­

Mechanical

In foundries, a square pan fitted with a wooden handle is called as: / ढलॊई­
घर मꝙ, लकीॎ कॕ एक ऻ激ॕ ऺॕ जॏीॕ एक शगॊ壗कॊर तशॕ कख़ कऻतॕ ऻ抠:

Bellow / बॕलख़

Slick / 㑩ꙗठक

Shovel / करछॎ

Riddle / �रडल

Correct Answer :­Shovel / करछॎ 

76)

Question Stimulus :­

Mechanical

In a typical casting, sprue is the passage used for: / एक आदष壗 ढलॊई मꝙ,  ॠऺ聱ऻणॎ
शऻ रॊ阐ॊ  ऻॖ ोजऺकॊ ἴयख़ग ोन⎫ कॕ ोलए ोकयॊ जॊतॊ ऻॖ:

excess material outflow / अ ोधषॕह ऺॊम聱ॎ कॊ बोऻἴ壗शॊऻ

molten material inflow / ोपघलॎ ऺॊम聱ॎ कॊ अॠतशॊ壗ऻ

removal of air bubbles / शॊयॏ बॏलबॏलख़ ॠ कख़ ऻटॊनॊ

none of these / इनमꝙ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­molten material inflow / ोपघलॎ ऺॊम聱ॎ कॊ अॠतशॊ壗ऻ 

77)

Question Stimulus :­

Mechanical

A 50mm diameter solid shaft is welded to a flat plate by 10mm fillet weld.
If maximum allowable shear stress is 80MPa, how much maximum torque
the welded joint can sustain? / 50 ोममॎ ≠ॊऺ कॕ ठख़ऺ धॏरॎदॠड कख़ 10 ोममॎ पोᩨकॊ झॊल
賏ॊरॊ एक ऺपॊट 賜ॕट ऺॕ झलॊई कॎ जॊतॎ ऻॖ। योद अोधकतम 휐ॎकॊय壗 अप杯पण ἴोतबल 80 एमपॎए ऻॖ,
तख़ झलॊई जख़ी अोधकतम ोकतनॕ टॗक壗  कख़ ऺऻ ऺकतॊ ऻॖ?

2.82 kN.m / ͙.͙͟ kN.m

2.22 kN.m / ͙.͙͙ kN.m

3.22 kN.m / ͚.͙͙ kN.m

2.00 kN.m / ͙.͗͗ kN.m

Correct Answer :­2.22 kN.m / ͙.͙͙ kN.m 

78)

Question Stimulus :­

Mechanical

In case of a Rotameter, which one of the following statement is correct? /
रख़टॊमॎटर कॎ 㑩쫀थठोत मꝙ, ोन⎫ मꝙ ऺॕ कग़न ऺॊ कथन ऺऻॎ ऻॖ?

Float has a density lower than the density of the flowing fluid
/ ἴशऻमॊन श阐ॏ कॊ घन㕜 ἴशॊोऻत 澓≠ कॕ घन㕜 ऺॕ कम ऻख़तॊ ऻॖ

Float has a density equal to the density of the flowing fluid /
ἴशऻमॊन श阐ॏ कॊ घन㕜 ἴशॊोऻत 澓≠ कॕ घन㕜 कॕ बरॊबर ऻख़तॊ ऻॖ

Float has a density greater than the density of the flowing
fluid / ἴशऻमॊन श阐ॏ कॊ घन㕜 ἴशॊोऻत 澓≠ कॕ घन㕜 ऺॕ ꭊॊदॊ ऻख़तॊ ऻॖ

None of the above / उपरख़쯋 कख़ई नऻॎ ॠ

Correct Answer :­Float has a density greater than the density of the
flowing fluid / ἴशऻमॊन श阐ॏ कॊ घन㕜 ἴशॊोऻत 澓≠ कॕ घन㕜 ऺॕ ꭊॊदॊ ऻख़तॊ ऻॖ 



79)

Question Stimulus :­

Mechanical

Which type of rolling mill is used for the rolling operation? M  can be
transferred to Set 3 / बॕलन कॊय壗 कॕ ोलए ोकऺ ἴकॊर कॎ बॕलन ोमल (रख़ोलॠग ोमल) कॊ ἴयख़ग
ोकयॊ जॊतॊ ऻॖ? म ऺॕट ͚ मꝙ 쫀थॊनॊॠत�रत ोकयॊ जॊ ऺकतॊ ऻॖ

Two high rolling mill / दख़ उ潜 रख़ोलॠग ोमल

Three high rolling mill / तॎन उ潜 रख़ोलॠग ोमल

Four high rolling mill / चॊर उ潜 रख़ोलॠग ोमल

All of the above / उपरख़쯋 ऺभॎ

Correct Answer :­All of the above / उपरख़쯋 ऺभॎ 

80)

Question Stimulus :­

Mechanical

After expansion from a gas turbine, the hot exhaust gases are used to heat
the compressed air from a compressor with the help of a cross flow
compact heat exchanger of 0.8 effectiveness. What is the number of
transfer units of the heat exchanger? / गॖऺ टबॊ壗इन ऺॕ ἴऺॊर कॕ बॊद, गम壗 ोनकॊऺ गॖऺख़ ॠ
कॊ ἴयख़ग 0.8 ἴभॊोशतॊ कॕ अनॏἴ쫀थ ἴशॊऻ जोटल ऊ窮ॊ प�रशत壗क कॎ ऺऻॊयतॊ ऺॕ एक  ॠऺपॎडक ऺॕ

ॠऺपॎोडत शॊयॏ कख़ गम壗 करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ। ऊ窮ॊ प�रशत壗क कॎ  ॠऺचॊरण इकॊईयख़ ॠ कॎ  ॠऺ殼ॊ
剨ॊ ऻॖ?

1 / ͘

4 / ͛

8 / ͟

16 / ͘͝

Correct Answer :­8 / ͟ 

81)



Question Stimulus :­

Mechanical

Determine the value of absolute pressure if the gauge pressure is 21 bar
and atmospheric pressure is 1.013 bar. / योद गॕज दॊब 21 बॊर और शॊयॏमॠडलॎय दॊब
1.013 बॊर ऻख़ तख़ ोनरपॕ眏 दॊब कॊ मॊन पतॊ कॎोजए।

21 bar / ͙͘ बॊर

22.013 bar / ͙͙.͚͗͘ बॊर

20 bar / ͙͗ बॊर

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­22.013 bar / ͙͙.͚͗͘ बॊर 

82)

Question Stimulus :­

Mechanical

Which one of the following is not a type of lubrication process? / ोन⎫ मꝙ ऺॕ
剨ॊ एक ἴकॊर कॎ ो秉ठ쇕क ἴो쬺यॊ नऻॎ ॠ ऻॖ?

Gravity feed / गॏਂ㕜  ॠऺभरण

Forced feed     / क॑ो㭬म  ॠऺभरण

Splash method / ोछीकॊश कॎ ोशोध 

Vapour absorption / शॊ쒮 अशषख़हण

Correct Answer :­Vapour absorption / शॊ쒮 अशषख़हण 

83)

Question Stimulus :­

Mechanical

A thin flat plate 2m x 2m is hanging freely in air. The temperature of the
surroundings is 25°C. Solar radiation is falling on one side of the plate at
the rate of 500 W/m2. What should be the convective heat transfer



coefficient in W/m2°C, if the temperature of the plate is to remain
constant at 30°C? / एक पतलॎ ऺपॊट 賜ॕट 2मॎ × 2मॎ ऻशॊ मꝙ मॏ쯋 杯प ऺॕ लटकॎ ऻॖ। उऺकॕ
आऺपॊऺ कॊ तॊपमॊन 25 ोड聱ॎ ऺॕ. ऻॖ। 500 शॊट/ शग壗 मॎ. कॎ दर ऺॕ 賜ॕट कॎ एक ओर ऺग़र ोशोकरण
ोगर रऻॊ ऻॖ। शॊट/शग壗 मॎण् ोड聱ॎ ऺॕ. मꝙ  ॠऺशऻनॎ ऊ窮ॊ  ॠऺचॊरण गॏणॊॠक 剨ॊ ऻख़नॊ चॊोऻए, योद 賜ॕट कॊ
तॊपमॊन 30 ोड聱ॎ ऺॕ. पर 㑩쫀थर रऻॕ तख़?

25 / ͙͜

50 / ͗͜

100 / ͗͗͘

250 / ͙͗͜

Correct Answer :­25 / ͙͜ 

84)

Question Stimulus :­

Mechanical

Which one of the following is NOT a temperature measuring instrument? /
ोन⎫ मꝙ ऺॕ 剨ॊ एक तॊपमॊन मॊपन यॠ㭬 नऻॎ ॠ ऻॖ?

Thermocouple / थम쥄कपल

Rotameter  / रख़टॊमॎटर

Thermistor  / थोम壗에र

Pyrometer / पॊयरख़मॎटर

Correct Answer :­Rotameter  / रख़टॊमॎटर 

85)

Question Stimulus :­

Mechanical

The Reynolds number for flow measurement is given by:  / ἴशॊऻ मॊपन कॕ ोलए
रॕनॗ癶्ऺ  ॠऺ殼ॊ कख़ ोकऺऺॕ ἴदोषठ壗त ोकयॊ जॊतॊ ऻॖ:

vdµ/ρ



vdρ/µ

vd/ρµ

ρµ/ vd

Correct Answer :­vdρ/µ 

86)

Question Stimulus :­

Mechanical

An ideal gas as compared to a real gas at very high pressure occupies: /
शॊ阐ोशक गॖऺ कॎ तॏलनॊ मꝙ एक आदष壗 गॖऺ बॕऻद उ潜 दॊब पर 聱ऻण करतॎ ऻॖ:

more volume / ꭊॊदॊ आयतन  

Unpredictable volume / अोनयोमत आयतन 

same volume / ऺमॊन आयतन 

very less volume / बॕऻद कम आयतन 

Correct Answer :­more volume / ꭊॊदॊ आयतन   

87)

Question Stimulus :­

Mechanical

In a shaper machine, the cutting operation is performed during: / एक
आक॑ोतकॊर मषॎन मꝙ, कॊटनॕ कॊ कॊम ोकऺ चरण कॕ दग़रॊन ोकयॊ जॊतॊ ऻॖ

Forward stroke of a tool / एक उपकरण कॊ अ聱ॕहण घॊत

Return stroke of a tool / एक उपकरण कॊ ἴोतगम घॊत

Both forward and return stroke of a tool / उपकरण कॊ अ聱ॕहण और
ἴोतगम दख़नख़ ॠ घॊत

None of the above / उपरख़쯋 मꝙ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Forward stroke of a tool / एक उपकरण कॊ अ聱ॕहण घॊत 



88)

Question Stimulus :­

Mechanical

Which one of the following flow measurement device is independent of
density? / ोन⎫ मꝙ ऺॕ कग़न ऺॊ ἴशॊऻ मॊपन यॠ㭬 घन㕜 ऺॕ मॏ쯋 ऻॖ?

Electromagnetic flow meter / ोशद्यॏ त चॏॠबकॎय ἴशॊऻ मॎटर

Orifice plate / ऑ�रोफऺ 賜ॕट

Turbine meter / टबॊ壗इन मॎटर

Venturi meter / शꝙचॏरॎ मॎटर

Correct Answer :­Electromagnetic flow meter / ोशद्यॏ त चॏॠबकॎय ἴशॊऻ मॎटर 

89)

Question Stimulus :­

Mechanical

The Euler load for a column is 1500 kN and crushing load is 1000 kN. The
Rankine load is equal to: /कॗलम कॕ ोलए यॐलर लख़ड 1500 कॕएन और 쬺ोष ؽग लख़ड 1000
कॕएन ऻॖ। रॖᜀॊइन लख़ड ोकऺकॕ बरॊबर ऻॖ:

500 kN / ͗͗͜ कॕएन

2500 kN / ͙͗͗͜ कॕएन

600 kN / ͗͗͝ कॕएन

1250 kN / ͙͗͘͜ कॕएन

Correct Answer :­600 kN / ͗͗͝ कॕएन 

90)

Question Stimulus :­

Mechanical

The operation of enlarging the hole already made in the work piece is
called as: / शक壗 पॎऺ मꝙ पऻलॕ ऺॕ बनॕ छॕद कख़ बीॊ करनॕ कॕ कॊम कख़ 剨ॊ कऻतॕ ऻ抠



called as: / शक壗 पॎऺ मꝙ पऻलॕ ऺॕ बनॕ छॕद कख़ बीॊ करनॕ कॕ कॊम कख़ 剨ॊ कऻतॕ ऻ抠

Boring / बख़�रॠग

Knurling / नोल䄃ग

Undercutting / अॠडरकोटॠग

Chamfering / कॖ댒फ�रॠग

Correct Answer :­Boring / बख़�रॠग 

91)

Question Stimulus :­

Mechanical

Water at 20°C is flowing through a 20 cm diameter pipe. The kinematic
viscosity of water is 0.0101 stoke. If the Reynold’s number is 2320, at
what velocity the water will be flowing through the pipe? / 20 ोड聱ॎ ऺॕ. तक
पॊनॎ एक 20 ऺॕमॎ ≠ॊऺ कॕ पॊइप ऺॕ जॊ रऻॊ ऻॖ। पॊनॎ कॎ गोतकॎय ߮ॊनतॊ 0.0101 에ख़क ऻॖ। योद
रॕनॊ癶्ऺ  ॠऺ殼ॊ 2320 ऻॖ, तख़ पॊनॎ ोकऺ गोत ऺॕ पॊइप ऺॕ ऻख़कर बऻॕगॊ?

1.117 cm/s2 / ͘.͘͘͞ ऺॕमॎ/शग壗 ऺॕ

11.17 cm/s2 / ͘͘.͘͞ ऺॕमॎ/शग壗 ऺॕ.

2.152 cm/s2 / ͙.͙͘͜ ऺॕमॎ/शग壗 ऺॕ

1.923 cm/s2 / ͘.͙͚͠ ऺॕमॎ/शग壗 ऺॕ

Correct Answer :­1.117 cm/s2 / ͘.͘͘͞ ऺॕमॎ/शग壗 ऺॕ 

92)

Question Stimulus :­

Mechanical

Which law states that the internal energy of a gas is a function of
temperature? / कग़न ऺॊ ोनयम यऻ दषॊ壗तॊ ऻॖ ोक गॖऺ कॎ आॠत�रक ऊजॊ壗 तॊपमॊन कॊ कॊय壗 ऻॖ?

Laws of Thermodynamics / ऊ窮ॊगोतकॎ कॊ ोनयम



Joule’s law / जॐल कॊ ोनयम

Regnault’s law / रॕनॗ蓬 कॊ ोनयम

Boyle’s law / बॗयल कॊ ोनयम

Correct Answer :­Joule’s law / जॐल कॊ ोनयम 

93)

Question Stimulus :­

Mechanical

A certain process has Normal time of 40 min. If the allowances provided
are 10%, then what will be the standard time for the process? / एक ोन ो耓ठत
ἴो쬺यॊ मꝙ 40 ोमनट कॊ ऺॊमॊ㄰ ऺमय लगतॊ ऻॖ। योद 10% कॎ दॕरॎ कॎ अनॏमोत ऻॖ, तख़ उऺ ἴो쬺यॊ मꝙ
आदष壗 杯प ऺॕ ोकतनॊ ऺमय लगॕगॊ?

44 min / ͛͛ ोमनट

40 min / ͛͗ ोमनट

50 min / ͗͜ ोमनट

45 min / ͛͜ ोमनट

Correct Answer :­44 min / ͛͛ ोमनट 

94)

Question Stimulus :­

Mechanical

A certain liquid has 5 tonnes mass and occupies 10m3 volume. What is the
mass density of liquid in kg/m3? एक ोन धॊ壗�रत 澓≠ कॊ 澓≠मॊन 5 टन ऻॖ और आयतन
10 घन मॎटर ऻॖ। ोक聱ॊ/शग壗 मॎ. मꝙ 澓≠ कॊ 澓≠मॊन घन㕜 剨ॊ ऻॖ?

500 / ͗͗͜

50 / ͗͜

0.5 / ͗.͜



5000 / ͗͗͗͜

Correct Answer :­500 / ͗͗͜ 

95)

Question Stimulus :­

Mechanical

A machine punching 40mm diameter holes in 30mm thick plate requires
10Nm of energy per square mm of sheared area. It punches one hole in
every 10 seconds. Determine the power required for the motor. / 30 ोममॎ
मख़टॎ 賜ॕट मꝙ 40 ोममॎ ≠ॊऺ कॊ छॕद करनॕ शॊलॎ एक मषॎन कख़ अप杯ोपत 眏ॕ㭬 कॕ ἴोत शग壗 ोममॎ मꝙ
10 एनएन ऊजॊ壗 कॎ आश߮कतॊ ऻख़तॎ ऻॖ। यऻ ἴ骢ॕक 10 ऺॕकॠ ड मꝙ एक छॕद बनॊतॊ ऻॖ। मख़टर कॕ ोलए
आश߮क ऊजॊ壗 पतॊ कॎोजए।

37.7 kW / ͚͞.͞ ोकलख़शॊट

40.7 kW / ͛͗.͞ ोकलख़शॊट

30.7 kW / ͚͗.͞ ोकलख़शॊट

25.7 kW / ͙͜.͞ ोकलख़शॊट

Correct Answer :­37.7 kW / ͚͞.͞ ोकलख़शॊट 

96)

Question Stimulus :­

Mechanical

In a reaction turbine, a stage is represented by: / एक अोभ ो쬺यॊ टबॊ壗इन मꝙ, एक
चरण ोन⎫ 賏ॊरॊ ἴदोषठ壗त ोकयॊ जॊतॊ ऻॖ:

each row of blades / फलक कॎ ἴ骢ॕक पठॠ㑩쯋 

number of discharge of steam / भॊप कॕ ोनशॊ壗ऻ कॎ  ॠऺ殼ॊ

number of casings / आशरण कॎ  ॠऺ殼ॊ

number of exists of steam / भॊप कॎ उप㑩쫀थ ोत कॎ  ॠऺ殼ॊ

Correct Answer :­each row of blades / फलक कॎ ἴ骢ॕक पठॠ㑩쯋  



97)

Question Stimulus :­

Mechanical

What is included in the Work study? / कॊय壗 अ쑼यन मꝙ 剨ॊ षॊोमल ऻख़तॊ ऻॖ?

Only method study / ोऺफ壗  ोशोध  अ쑼यन

Only work measurement / ोऺफ壗  कॊय壗 मॊपन

Method study and work measurement / ोश ोध  अ쑼यन और कॊय壗 मॊपन

Only micro­motion study / ोऺफ壗   ॐऺ쾇­गोत अ쑼यन

Correct Answer :­Method study and work measurement / ोश ोध  अ쑼यन और
कॊय壗 मॊपन 

98)

Question Stimulus :­

Mechanical

A rotor weighing 100N is mounted midway on a 20mm diameter horizontal
shaft supported at the ends by two bearings. The bearing span is 800mm.
Determine the static deflection of the shaft if it runs at a speed of 3000
rpm. (given E=2*105 N/mm2) / 100एन शजन कॊ एक रख़टर दख़ ोदकमॊन (ोबअ�रॠग)
賏ॊरॊ अॠत मꝙ ऺमोथ壗त 20 ोममॎ ≠ॊऺ कॎ 眏ॖोतक धॏरॎदॠड पर बॎच मꝙ जख़ीॊ जॊतॊ ऻॖ। ोदकमॊन कॊ
ोश阐ॊर 800 ोममॎ ऻॖ। योद धॏरॎदॠड 3000 आरपॎएम कॎ गोत ऺॕ चलतॎ ऻॖ तख़ धॏरॎदॠड कॕ 㑩쫀थर ोश眏ॕपण
कॊ पतॊ कॎोजए। (E=2*105 N/mm2)

0.850 mm / ͗.͗͟͜ ोममॎ

0.679 mm / ͗.͝͞͠ ोममॎ

0.250 mm / ͗.͙͗͜ ोममॎ

0.521 mm / ͗.͙͘͜ ोममॎ

Correct Answer :­0.679 mm / ͗.͝͞͠ ोममॎ 

99)

Question Stimulus :­



Mechanical

What do you mean by the term EOQ in an inventory control? / श阐ॏ ॐऺचॎ ोनयॠ㭬ण
मꝙ ईओ剨ॐ ऺॕ आप 剨ॊ ऺमझतॕ ऻ抠?

Easily ordered Quantity / ऺरल मॊॠग मॊ㭬ॊ

Easy and Open Quantity / ऺरल और चॊलॐ मॊ㭬ॊ

Ecofriendly observed Quality / पयॊ壗शरण­अनॏकॐ ल पय壗शॕो眏 त मॊ㭬ॊ

Economic Order Quantity / आोथठ壗क मॊॠग मॊ㭬ॊ

Correct Answer :­Economic Order Quantity / आोथठ壗क मॊॠग मॊ㭬ॊ 

100)

Question Stimulus :­

Mechanical

A casting of size 100cm*100cm*25cm was filled by top gate with
manometric height in pouring basin to be 25 cm. if area of gate is 5 cm2,
determine time required to fill the casting. / 100 ऺॕमॎ*100 ऺॕमॎ*25 ऺॕमॎ आकॊर
कॕ एक ढॊॠचॕ कख़ 25 ऺॕमॎ कॎ भरॊशन पॊ㭬 मꝙ मॖनख़मॕोट원 क ऊॠ चॊई शॊलॕ टॗप गॕट ऺॕ भरॊ गयॊ। योद गॕट कॊ
眏ॕ㭬फल 5 शग壗 ऺॕमॎ ऻॖ, तख़ ढॊॠचॕ कख़ भरनॕ मꝙ ोकतनॊ ऺमय लगॕगॊ।

255.7 sec / ͙͜͜.͞ ऺॕ

225.7 sec / ͙͙͜.͞ ऺॕ.

135.7 sec / ͚͘͜.͞ ऺॕ.

285.7 sec / ͙͟͜.͞ ऺॕ

Correct Answer :­225.7 sec / ͙͙͜.͞ ऺॕ. 


